A ynbw 5
L \cq]l&8

BapJw
{Intbnknl PohiXFh™ hiln[ L\ cq]8 fpsS {(JtXyIX1— a\“entj > k °
8 7 hcemdp=>. kXw*8 st jpdicpw AhbpsS hym]Xw, Jc,fh F9ih TW §n 3 p9 Xp
anb an—8 T F8 s\sbq apf ¢nkn™ P>, KaNXpckXqnl, hrfl kXq]l,
tKnfw, A Ttknfw F9 o0 L.\cq]8 st Ipdiap  JT\anW Cu A[ynbFfh~™ {Xi]nn
i P X
I\ Bibsg —
KXg]nl
kkaNXpc kXq]nl

kaNXpc kXg]nhbpsS Inzh 5§, In m:h §, Dbcw, Ncihpbcw, Ch Adbpq Xn\pw

AhbpsS Jeck]c _  w Is=>TFIp Xn\pw.

kkaNXpc kXg]ilIbpsS D]ciXe Jc,fh

kkaNXpc kXq]nlbpsS hym]Xw

hrfl kKXol

hrfl kXl bpsS Bcw, Dbcw, Naohpbew F91h X%0ep  _ w

hrfl kXl bpsS h{l Xe Jc,fh, D]JcaXe Jc,fh

tKmfw DjciXe Jc, Thpw hym]Xhpw

A Ttknfw D]cXe Jc, Fhpw hym]Xhpw

kwbp cq]8 T {Intbnknl {JE\8
{Ih fIN\w !
{Ko,phfmgn Xocre Bparl™ § hnhn[ hep, Fhepff kkaNXpc kXw*8 = \7 1pTp.
Ahbi™ HY \nh FhibXis amXrl N{X¥hh~ NphsS sInSpFhicn g plp. Chbn™ \nq[
kkaNXpc kwXw‘Fhs AtX Inzap Xpw A= agelfp Xpanb cqJw \n %on g m\p
{Ih FI\w \™ Imw.

v v Vv

VvV VvV vV VvV vV vV v v

/\

<

\ /

—
S~

\/
k<gN\ v
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qh FI\u 2

Inzapdg — Xt ImWw, NXpcw, JU“pPw F1h Bb kXw‘8 = \~ I \n Flisho

aplfi” sinSFl (Jh FINFhs Bh fI\w.
N =, t{InUolcWw.

Is>FInhpl hkXpX1™

° KXqqhtb§gp sInXp {JtXyIX1™—
° AnzZapJw, Im mapIJw

° Inzh 5, Jm mzh j

° B0 gw
{Ih fI\w 3

h 1 jgo

Nie kaNXpc kXqnh 1 fpsS nzFlis hahpw Im mapIdFhs  Afhpl fpw NphsS
sinSpFhien g p97p. InZzFhs  he I\ tNcepYl Im mapIdFhis  AFhpl™ tNcpw ]S

tN sFigpXpl.

InzFhs Hep hiFfhis Afh| In #@apIFfhs hi§ fpsS
(sk.an) \of8 T (sk.a)
i 512,12
6 10, 11,10
5 8 4,8
4 9,96
7,7, 7
{Ih fI\w 4
NphsS sInSpFlqg — {XitImW8 fi~ xs hie InWpl.
5 5
X
10 10
6
-
6
X X
12
-
-
10

apl ™ sImSpFhiwp  Hmntenm Xt ImWFhs bpw Jc,fh InwWpl.

MUKULAM MATHS ettt e e sae s st £ee £ s e s e e eee £ eae £ e e £ e s £e s she s SaE e ane e en e e e e nre e nae e e an e e nnis

...................... 93



qh FI\u 5

Hcp kkaNXpe kXgnhbpsS Hep In mapd¥his  Ni{Xw NphsS sEmSpFlnen § p9l p.
AXis  Imzh gis  \oFhpw Nenhpbchpy NXEIh™ ASbnfs, SpFhbrg>. Ffn™

a) B agpdfhis TJc,fsh{X?

by kXqJnhbpsS Im #pJ Jc,fh F- ? I
y InzFlis  Jc,fh 1nwpl. |
> |

C

d) D]cnXe Jc,fh F{X NXpc{m sk nao dnW.

{Ih FI\w 6

J«bbn™ sinSpFlncn § pIl Hmtem ka_ BppP kXg]nlbpsSbpw ImzFhis  \ofw a
bpw Ncihpbcw ¢ Dv B 1p9[ p. J«l Jq Flhiom g pl.

\{Ia KXl Ffﬁs]m]iz?pf% In i=pd Jc.fh
1 ka“‘pP{Xrt InwW KkXq]nl Y2 al 3x Y2al =" x3a x|
2 kkaNXpc kXq]nl Y2 al 4x V2 al =2 x4a x|
3 ka] = ‘)P kXgol | 5x zal =
4 kagU“P kXl | e e ST
5 ka K]XP kXqnl | e e ST
6. nhia ka_  BIp9P KX(l| e [, =

kXq bl bsS In 12Xe Jc,fth = 2 x JnZNp fh x Ncihpbcw
F9 hmlyFlite § FFflhitacnt {§an jpat™m?
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{qh FI\u 8
kaNXpc kXg]nhbpsS Nne Afhpl™— sInSpFlnen § p9 p. hne*mKw Joenn g pl.

{la Dbcw Ncihpbcw Inzh j Im 1ih Imzhnln fiw
\... (sk.ao) (sk.an) (sk.an) (sk.an) (sk.an)
| 36 o e
2 2 ] 1 O
3| 25 K o
4 e e 72 O
5 | e e 20 24
6 8 | e e 40
7 15 v e e

Jomoe\ {Jai\8 —
e Hcp kaNXpe kXgnhbpsS ImZzh gns  \ofw 10 sk an Dw, Ncihpbcew 14 skanbpw
Bbn~ AXis TJIn §2Xe Jc,fhw DJcXe Jc, fhw InWpl.
e Hcp kaNXpc kXg]nhbpsS InZNp fh 40 skan, Dbcw 12 skan F9 thbnW. B ka
NXpc kXq]nlbpsS Jc,fh InWpl.

° kkaNXpc kXq]nhbpsS Hep Jm mapd¥his  Jc,Th 9% N.sk.an Dw Ncnhpbcw 12
ska Dv Bbn™ AXis DJjcXe Jc,fh Inwpl.

e kaNXpc kXqJnhbpsS F~m h §plfpw XpeyanW. h § p1fpsS Bs 1 \ofw 120 sk.ao
Bbn~ D]cXe Jc,fh Inwpl.

e kaNXpc kXqnhbpsS Inzh s  \ofw b bgWi pw Ncahpbcew ¢ bgWh pw Bbn™

In 12Xe Jc,fh DJcXe Jc,fh FIh Inwmn\p _ oPKW1X hnNBw FgpXp
1.

kkaNXpc kXgJn 1 bpsS hym ] Xw

GX kaNXpc kXg]ilbpsSbpw hyn]Xw AXis  AtX Inzhpw Dbchpap  kXw*
Ths hyn]XFhs agf1~ HY oW F9 hikaXpX InTpkeX 1 {Jh FIN\FhegsS t_n[y
s, SpFImhp9] XmW.

{Ih FI\TheqsS DepFleibpy] hikeXpX

kaNXpc kX b bpsS hym]Xw =1/3 x Jc,fh x Dbcw

{qh FI\w 9
InZ]c,fth 100 N skao Dw Dbcw 15 skaibw Bb kaNXpc kXgq il bpsS hym]Xsa- ?
hym] Xw = 1/3 x Jc,Th x Dbcw
= 1/3 x 100 x 15
=500 L\ sk nao
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Jormoe\ {Ji\8§8 —
Hep lkkaNXpe kXqnlbpsS InZNp fh 80 sk.ao Dbcw 33 skan Bbn~™ hyn]Xsa- ?

InzZNp Fh 64 skaDw, Nathpbcew 17 skaibw Bbi«p  kkaNXpe kXgnl bpsS hym ] Xw
InwWpl.

kkaNXpc kXq]nlbpsS In mapJd Jc,Th 2320 N.sk.ao Dw Hep Imzh §1s  \ofw 40
ska Dw Bbn™ AXis hym]Xsa- ?

Hcp kkaNXpe kXg ol bpsS ImZ hiln fi Flis  \ofw 18skan Dw m mzh § 15 skan
Dw Bbn™ AXis hym]Xw InWpl.

Inzh §rs  \oew 21 skan Dw hym]Xw 2940 L\ skanbpanb kaNXpc kXq]nl bpsS
Dbcw InWpl.

o 3200 L\ska hynJXap Hcp kaNXpc kXg]nhbpsS Dbcw 24 skar Bbn™ JnZ
Jc.fh, D]jcXe Jc,fh F9ih InwWpl.
e N
k<Xqom JoTFIs hym]Xw
Inzh grs \ofwbbgWi Bb 1«bmnb Hcp kaNXpe kXq]nlbpsS mo g Flis
‘DKFL N\l ImZzh §1s  \ofw abqgWi 1 Bb sNdib Hep kaNXpe kXq]nl apdn am p
Mp. Gfr~ tagngpNl “mnKFhs  hym]Xw ImWpql hn[[w.
\
| \
| \ M
| \ I
: b
KXqJom JoTFlis  hyn] Xw= kZri {XritImwW§ fpsS {JtXylX
heib kaNXpc kXq]nlbpsS hym]Xw A\pkcna
sNdib kaNXpc kXg]nl'bpsS hym ] Xw
:1/3 bzx- 1/3 32 (X-h) a_:x;h
= 1/3[b> bh - 1/3 az[bb_h-h] b ox
b-a -a
— 1/3b%h - 1/3 a%bh + 1/3 a* (bh-ah) bbb
1/3 b*h - a a -a x (b-a) = bh
b-a x = bh
— M [bs -a’b + a%b -a3 ] b-a
b-a
=1/3 hlb’®- a3]
b-a
=1/3 h x (b-a) (b*> + ab + a2
b-a
= 1/3 h (b? +ab+a?)
\- J
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hrfl kXg]nl

qh FI\u !

LalSenk sIn=> \1 %aa hrFlkX(]nl hiXcWw sNbX AXis  Bcw, Nahpbcw,
Dbcw 9 1th JciNbs , SpFInhp ] XmW. XpS 91 H«ia “nKFIn™ 1gSh apdia ImZapJw, Im Wz

apJdw (h{lapdw) F91h th s]SFipl.
Ni{Xw \

\
S
&
K

Becwr

InzapIw hrFlhpw h{lapJdw hrflnw i hpanbpw e“n § pat™m.

{Ih fI\w 2

l«alSenkn”™ hcoe 15 sk an Bcap  Hep hrFIFhh™ \anql 120° t0{ tInWp
hrflmwaw apdisaSp g pl. AXis  NmJ\ofw InWpl. AX D]tbnKna TJcanh|[n hep,
a  hrflkXgnl D=>njpl. InZapJdanbn apdisaSp § mhpyl hrFlFflhis BcsalX sk
ar Bbicn g pw.

Nm] \ofw = 120 x2mx 15
360
(H...XmwXcFlise Nm]\ofw t]P 173 t\m g pl.)
= 1 x2mtx 15
3
= 10w
hrflnwa flis  Nm]\oFfhpy hrFlkeXg]nbbpsS mZNp Fhpw
Xpeyanwtm.
Jnzfhis Bc rbgWwi Bbn™
2tr =107
r=10T
127
= Scm
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r

BcwéDw tl{ tin< x°Dwv Bb hrFflnwiaw hfa D>n j pq]
hrflkXgnlbpsS Bew r BsSW i~

= x x2ml=2mr

360
CXnm \ffpw x = 2mr
360 21l
x =rcFT e ripyp
360 ¢

X :ef F9 XXw D]tbmKnix \n 11X Afhi™ Bchpw Ncihpbc
360 € mpap— hrflkeXg]nl \1 % § nE th> hrflmi
this tiI{ tin< Is>Tflw.

qh FI\w 3

0 sk an Bcap hrFIFhh™ \uYl Hep hrFlnwiw apdisaSpFL hrFlkXgJal D=>n
i Ww. InzFlis Becwbska BWlisafn™ hrflmwiflhis tl{ tInwis ATfsh{X?

qh FI\u 4

Hcp hrflFflis BcFfhs Afh 27 skar AXom \nf[pw 20° t#{ tImWp  Hcp
hrflnwaw apdisaSpFl hrFlkXgnl \n %aem™ AXis Becow F{X?

qh FI\w 5

20 tl{ tInWp  hrFflmwiw hfa D>n j pf hrFlkXq]r1bpsS ImZFInN\ 314 skan
Jc.fhps> f1~ kXqInhbpsS In tamqg Xn ImWpl.
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hrfl kXqn1 bpsS h{lXe ]c,fh

hrEl kXl bpsS h{l Xe Jc,Tth AXp=nimn\p]tbnKie hrflmwsfhs TJc,f
hi\ Xpeyanwtn?

hrflnwaflis Jc,fh AtX Bcanb hrflfhs tl{ tInwis Afh x BsW
fro hrflwifhs TJc,fh hrflfhs 320 ‘nKat™?

hrflflis  Bon ¢ bgWn nsWfn™ o ° e BWEN

— X = —
Fqn 360 / F9 ap... Is>Fhbip=>t"n

- hrflmwifhs Jc,fh 7” e’

=nre F e“ngplp

a ™
GsXmep kXg]nhbpsSbpw Jm m:2Xe Jc,fh
Y2 x ImZNp fh x Nahpbew FqI XXw D] tbnKnie 1s=>Fhbxp=>t"mn
hrflkXgnhbpsS ImzZNp fh hrfIFfhis  Np fhawt .

s hrFlkeXgJnhbpsS h{lXe Jc,fh = 2X 2mrxe

= Tr¢
. J

hrflkXg]nb bpsS D]ciXe Jc,fh ImnZ]c,fhis bpw h{l Xe Jc,fhis bpw Xpl
bnwW. hrflkXg]nl bpsS D]ciXe Jc, fh.

InzFhis Becw r bgWn pv sNahpbep ¢ bgWh pw Bb hrFlkXq]nl bpsS D]ciXe
Jc.fh
= nr* + mré
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qh FI\w

Hep hrfl kX il bpsS Bew 7 skaDw Nanhpbcew 16 skkan Dy Bbn™ AXis  h{l Xe
Jc.th, D]JoaXe Jc,fh Fih Inwpl.

h{lXe Jc,fh =mrl Bow r=7
Tx7x16 Ncihpbew 1= 16
112 m Nsk.an
InZ Jc.,fh =nr

mXx 7?

49 © Nsk.an

D]ciXe Jc,fh
= (112 1+ 49 n)
= 261 m Nsk.an
105X~ {Jh FIN\§ —
o hrFlkX(rimirXobrep  Im{XFhs ImZNp fh 10 = sk.an Dw Ncihpbew 12 sk.
abpw Bbn™ AXp=>njn\p]JtbnKia gors 7Jc,Fsh{X?

o 260tH{ tInWp hrFlnwa hfap=>nj pT hrfl kX1l bpsS Bew9sk.a Bbn™
AXis hi{lXe Jc,fh Inwpl.

e NnXFhh™ slInSpFlncn
i hrfl KXol bpsS

h{lXe ]c,Thpw D]cnXe I sl
Jc, fhpw InwWpl. (mz

hynkw 24 sk.ar Dbcw 9

sk.an) 24 sk.an

hrfl k<X bpsS hym] Xw
kkaNXpc kXg]rhbpsS hym]Xw Is=>Fhb coxnbnegss,

hrflkXgJnhbpsS hyn]Xw = '/, x InZ]Jc,fh x Dbcw FI __  Fhsefhtacn
at™m.
hrflkXgnInlrXabnep  Hep t], shbinis  InZzhymkw 8 skk.aiDw Dbcw 6 skan
Dw BW.
AXis  hym]Xsa- ?
hrFlkXg]nbbpsS hym] Xw = '/.x ImZ]c, fh x Dbcw

= '/,x wr’xh e %

= '/, xTx4°x6 h= 6

= 32t L\ska

BRI e eset st st e e MUKULAM MATHS



Jeormoe\ {Ja\8 —
GXm\pw hrFlkXg]nlbpsS Afhpl™ Xmsg sInSp 3 p9l p.
J«b Joen,ngpl.

qmz Dbcw |Ncnhpbcw| InZ InZz]c, | h{lapd | D]cXe | hym]Xw
Bcw Np fh th Jc.th | Jc.fh
6 8
5 13
24 30
15 25
10 24
36 45
33 55
21 36
60 61

hrfl KX¢JrimErXabr™  Bgabnen § pI aWers  ImZNp fh 7536 ao dmW. Ncihp
bcw 13 a0 dnW. Lg«abwiact § pl aWels hym]Xsa- ? Hcp LL\ao aWen\ 1500 cq]
\icign~ B aWers hiesb- ?

hrflkXgnInkrXobnep  Hep Im{XFhis InzFlis  Jc,fh 64 T N.ka, h{l
Xe Jc,fh 80 T Nskar Ffim AXis D fh F{X en dnw?

Hep hrFlkeXgnl bpsS hym ] Xw 320 T L\.skaibpw Dbcw 15 sk.albw BsWfn~
h{lXe Jc,fh Inwpl.

Hcp hrFlXgnlbpsS Bchpw Dbchpy X%0ep  Awid__ w5 2 BW. kXq]n
Ibi 2572 L\ skao hyn]Xaps=> fn~ h{lXe Jc,fh Inwpl.

c> hrflkXq]nlbpsS Bc8 = X%iep Awid__  w 34 Dw AhbpsS Dbc8 —
X%nep  Awid__ w53 Dw Bbn™ hym]X8 =™ X%nep Awi__ sa- ?

tKnfw

tKnFFIN\ Hep apJdw an{Xta D q Fpw tkmfFFhs tl{ w, Bcv Fth F-
sWql pw hy am g pat™m tKnfsFl apdian™ hrflw e“n j pl p. tknfsFl c> Xpey
‘K8 fm g apdiamep=>nlpyl hrflfhis tI{ v, Bcw F1h AtX tkKnfflit X
Xsq[ bmbnen § psaq] hikXpXXbpw hy —am § mw. tKnfFlis D]ciXe Jc, fh, hym]Xw
F9h Inwm\p  hnly8 = \7 Imat™n.

Bcvr Bb
tKnfflhis D]jciXe Jc,fh =471 2
hyn]Xw =471r
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A TtKmfw

1«bnb tKnfsFl c> Xpey‘nKaml ¥l § hi[ I~ apdiam™ Hmtemq] pw A t+mfFam
bicn § pat™m.

Hcp tKmFFlhis D]caXe Jc, fhis ] IpXibmbner g pw. AXn™ \iqfpw D=>m § pql
A TtknfFfhis hi{lXe Jc,fh Fw B tknfflhis hyn]XFfhs ] 1pXabnbrn
aim A TtkmfFlhis hym]Xsaq pv a\“rem § mw.

A TtknfFhs JImZ]c,fh hrFflfhs TJc,fh Xs bs™. CXi~ \ul pw NphsS
sInSpFl coXnbn™ t{InUol cWw \SFInhpf| XmW.

Bcecvr Bb A Ttknfflis InZ]c,fh = 1T

h{lXe Jc,fh = 27T r?

D]ciXe Jc,fh =370 r?

A TtknfFhis  hym]Xw =27
3

Jeraoe\ {Jh FIN§ —
18 sk an hynkap  tKnfFFlis DJ]cXe Jc, fhpw hyn] Xhpw InwWpl.
576 T Nsk.ar DJciXe Jc,fhp  tkKnfFhis hym]Xsa- ?
288 L\.sk.an hyn]Xap tKnfFlis D]ciXe Jc,fsh- ?
40 Nsk.an DJcaXe Jc,fhp  tKnfFFhis\ c> A TtKmfanjibon™ HY1s hil
Xe Jc,fh, DjcXe Jc,th Fih Inwpl.
24 sk anhymkcap 20 7™NpSt__mfpl ™ \n %o § mM\nh ayanb Xpleis TJc,fh InWpl?
Hep Cep... tKmFFIN\ 6 sk an hymkkap>. Hcp L\ skan Ccp....s  “mcw 7.5 {Kmw
BsWfi~ B tknffhis “mcsa- ?

3sk an Bcap temB\n %nXanb B«bmb Hc TtKmfw Dcp i n AtX hymkap
l«bnb hrfl kX¢Jnhbm g an 1bn™ AXis Dbcsa- mbicn § pw?
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E

20 Marks
1hr.

UNIT TEST

kaNXpc kXg]nhbpsS Imzh grs  \ofw 20 skkaiDw Ncihpbcw 18 skkanbpw Blom™

D]ciXe Jc,fh InWpl. 2
196 T N.sk.an DJcnXe Jc,fhp  Hep tkKmfFFlhis  hym] Xsa- ? 2
Hep hrfl kXgnlbpsS ImZNp fh 30A skan Dw Ncihpbcew 25 sk aibw Blmn™
AXis  hym]Xsa- ? 3

Hep IR, m«Flhis B IrXn A TtknfFFlhhm AtX hynkap  hrflkXghl LS
,1a coxXnbnemW. hrflkeXg]nl bpsS Nenhpbcew 5 skan, sTmXphymkw 6 sk<an Fq[n
8 s\ Bbn™ Ifi,n«Flhis hyn]Xw W gmngpl. 3

/

“

/

Hcp T«abnb t], shbn i\ kaNXpc kXgJnhbpsS \me In m@p3d8 i~ \nql pw
Htc hynkap A TtKnfw XpcsT SpFI B IrXibbmWp X, kkaNXpc kX ]l bpsS
ImZNp fh 32 skkanDw Ncnhpbcew 10 skkaiDw BW. Hiten A T tKnfFFhis  bpw hymkw
Hcp skan hoXamsW i~ t], shbnis hyn]Xsa{X?

l«bnb A tTtKnfnlrXibnb hkXphis hynkw 12 skan BW. CXi~ \nq[ ]cam
h[h hyn]Xap  Hcp hrfFlkXgq]nl sNFfhibp=>nj pTp A TtknFFhs b hrfl
KXgJnhbpsSbpw hyn X8 = InwWpl. hym] X8 = X%nep Awi__ sa- ? 3

kaNXpc kXgnImBrXabor™ \n %o § p9T Hcp BgSmcFIn\ 6 ao  Dbcap>. nZ]c,
Tth 256 Nskao BsWfn™ BgSmew s mXnbm\nh syanb BynFhmnkan\ NXpc{® ao
d\ 300 cqg] \nc g1~ Bsl F-  sNeh hcw. 3
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agey\n fi b {Jh FI\§ —

Hcp kkaNXpe kXgnhbpsS Hep Im mapIF¥his  No{Xw sImSpFhien g plp. Ffn™
kXgJnhbpsS Bsl h jplfpsS \ofsa- ?

Ncihpbcsa{X? kXq]nlbpsS Dbcw InWpl.

60 60/
8 cm

hrflkXgenImbrXibiep  Hep ta™ § qcbpsS ImZNp Fh 113.04 a0 dnwW. AXi\ 15
ao  Ncihpbecw Ds=> f1~ AXis h{lXe Jc,fh Inwpl.

kaNXpc kXgninkrXibnep  Hep hikXphis  ImZ]c,fh 900 N.sk.ar BW. Ncn
hpbcw 25 sk.an Bbn™ kXq]nl bpsS hym]Xsa- ?

Inz Bew 10 skan Dw Nahpbew 6 skaDw B IpY] hi[FIh™ Hep hrFlkeXg]nl
\ %ol § mtam? Cu Afhpl™ JckJcw am nom™ e“njpl kXqJnl bpsS Dbcsa- ?

A TtKnfFhis  JcT apJdw, DJcXew FhbpsS Jc, fhpw AtX Becap  tKnf
Tthis DJjcXe Jc,fhw kan- ¢ t{sWibnensW9q[ sXfibon §pl.

Hcp hizym 115 skan Bcap  Hep hrFlmwiw apdisaSpa 2355 N.sk.an h{lapd Jc
>Fhp  Hep hrFlX(]nl D=>nm j pT p. hrFl X1l bpsS Bcesa{X? B hrflmwi
fhs tI{ tIn< F{X?

kkaNXpc kXwmBrXibrep  Hep XS i JWFhs Dbcw 24 sk.aiDw Inzh j1s
\ofw 20 sk an Dw Bbn™ AX1i~™ \nf[ sNFhisbSp i mhpf] G hpw henb kaNXpc
kXqJnhbpsS hym]Xsa- ?

A TtKnf§ fnb c> In{X8 fpsS D]ciXe Jc,Ffhpl™ X%iep Awd__ w49
Bbn~ AhbpsS D fhpl™ X%nep Awl__ sa- ?

80 L\ sk.an hyn]Xap  l«bmb Hcp temnBtKnfw Dcp g n AXis ] 1pXn Becap
Labnb A TtKnf8 = D=>mj pvlp

FX A Ttknf8 =™ D=>m g mw?

Hcp A T tkKmfFFlis  hym]Xsa- ?

l«wbnb kien>dis hynkhpy Dbchpw XpeyanW. CXis c=> Fh~ \if v ken
>dis AtX hynkap Xpw ] 1pXn Dbcap Xpamb hrflkXg]nl Xpcql am p9l p.
to grgpl ‘mKFfhis  hyn]Xhw kiei>dis  hynkkFIn\ Xpeyanb tKnfFlhis
hym ] Xhpw XpeyansW9q sXtibn  pl.
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Al ynbw 6
I<gN 1 kwJy ™

HE: I Xmw ¢enkan™ tcJdob kwdy FI Atynbfh™ Fn kwJdylsfbpw Hep tcJd

bise 1 pj fp]tbnKna kgNn, 1 g msafl I >np=>. CXieqsS kwIdylfpsS Jcki]c

sl PynmaXobambn InWpT Xpw N & sNbXip=>. Cu A[ynbF¥h~ Hcp XeF

e_p_ GX _ 1 phis\bpw kwJym tPmUn s In> kgNn,n § msaql "W N @ sN¢ pql X. XpS 9]
PymaXob {] 1\8 st _ oPKWnXap ] tbnKia JciBncw EmWpYT Xpw N = sN¢,p9l p. XpS q1
heptl PymanXnbpw _— oPKWiXhpw F9 A[ynbFIh™ CX BgSpXembnr N asN¢ pTl p.

{1\ Bibsg —
»  Jck]jcwew_ 8 fnb c> tcI I fpw \ofw AT gnk bp amb Hcp G 1 hpw D] thom
Kna Xeflise _ 1 pjsft kwdynm tPnUn D]tbmnKna kN1 § p9l X.
» AXS8 fise 1 pjfpsS kgNI8 FpsS {JtXyl X
» AEXS8 T kan- canb tcJdlfise 1 pg fpsS kNI kwJy 1 fpsS {JtXyI X
AL S8 fitetbn AEZ8 T j kan- canb tcdlfitetbmc=> 1 pi = X%aep
Aleuw
» ALES8 T XTws” frepw X g  KN\EIFpsS ASS m\FIh™ a _n pji fpsS
kgNT kwJy 1™ ImWpql Xin\.
InT kX1 Fhise kwJdynNo{Xw F9 {Jh FI\w \~ Ipt..n~ BZyta Xsq JpdsFI
hcibn™ 10 8 = henfl coxnbn™ _ BppP8 = AhXcn,n g pl p. AXi\pap...
Cusbmnecp {Jh FIN\w sInSp § mhpq[ XnW.
11
10
9
8
7
6
5
4
3
2
1




Istbpw AS
A

ChisS 10 g8 fpsS kwJdymtPmnUnl— InWpt...n JckJcw ew__amb GX c=> hc

m\am § 1 Jdbmsaql pw s nXphmnb Hcp coXn F9I \nebn™ CSX loghcl™
m\am g n aje 1 fpsS m\w \n fi bngmw FI X Bpar g t__m[ys,SWw. XpS q

Acilplfiepw 10 38 7 heptl Ni{X8 = sImSp g pw.

12
11

10

\

kwIdyl™ F-

106 |

N

1 2 3 4

5 6 7 8 9 10 11 12

ChisSCSX loghcl™ § JoPyw FI t] \~ In Bg«aappql 1 pha\ (0,0) F9T t]

1.

NphsS sInSpFhicn g pl _n pg~ tbmPi,ia PymaXob cqlap=m g pql p.

A(2,3)
A(2,4)
R(0,1)

B (5,3) C (4,6)
R (4,0) R(6,3) S(3,8)
M (4,1) N@®6,5) O(2,5)

InTIhhX1FIh™ ho=>pw Nre kwJdym N{X8 = F9 {Jh FINFI\ apt... Cusbncp
{Ih FI\w sN¢nhpq XmW.

7

6

5

4

D|2,4)

E (4,3

CSX haFfl CXis {Xo_mw_whca gU“pPw Jq Fhion g p9l Xn\ age 1 fpsS kN 1

mboncn § Ww
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ChisS {KiUpl— CSXphatFl § \o«T X:\ hcbt §j > IpFls\bp  hclsf \yj\
kwJyl™ D]tbmKnma kgNn,nt § =>1hcpqy] Xite § Ip«alsT \bit § =>XnW.

Ni{Xw C8& s\bnbmten!

13) (3.3)

(6.1)

2

(ASFISHFI hcl™ X%nep  Alew Xpeyanbict § Ww) Alew F- panhmw.

NXpcw sh«isbSp § mw.

10 \ofFhw 8cm hoXnbpap  Hcp 1Semkas  atyFh™ N\l 6ecm \oFhpw 4em hoXnbop
ap  Hcp NXpew sh«sbSp g pl.

N\ofw \oFtFInSpw hoXn hoXntbnSpw tN F1 aS gron™ atyFhenbn Jck]cw ew
anb c> hcl™ hepfip Fipw a hclfirnsX Chan{Xw D]tbnKia apdit § > NXpc
Ths ajelfpsS m\w \n fi bn g msaql w AhbpsS kN1 kwJdyl™ F8 s\ Is>
Flnsaf pw Bpcaal™ 5§ t_ m[ys, Ss«

% NphsS Xfnengpfl _n pi ™ x AEFhsebw y A=EFhsebpw _ 10 pi ™~
Xcw XicisagpXpl.

(”2,0), (2,0) (0,2), (3, 2), (-2, 0), (0, 1/3),
(0, 3), (1.5, 0), (2.5, 0), (-2, -3)

_hnpE Alew

2,
1
-3,0), (5,0)

(2,0), (6,0) 4=2-6|
(1,
(-
(0,3),(0,7)
(
(
(

(5.6)

0),
0),

0,-1), (0,-2)
0,-3) (0,4)
0,-1), (0,1)

x AEZFI\ kan- canb tcJdbise 1 pi ™ X%iep Alewx kNI kwJyl fpsS
hyXynkflis tlhhe hiebnW.
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S |

Alew

3,2), (3,6)

4=|2-6 |

2,5),(2,-3)

-2,6), (-2,1)

(
(
(-1,3), (-1,-4)
(
(

-5,1), (-2,1)

y AEZFI\ kan- canb tcJdbise 1 pi ™ X%rep Alewy kNI kwJylfpsS

hyXynkflis tlhe hiebnW.

MUKULAM MATHS



h 1 go |
l kgNI8 — hca NphsS XY p  kwJym tPmUnE™ kgNnn g pT _n pi~— ASbn
fs,SFIpl.
A (2,3),B (-3,4), C (-4,-2), D (5,-3)
2. NphsSXTnp hbn™ xAEFhise 1 pi st kNingpl kwIyntPnUnl ™ am{Xw
FagpXpl. (1,3),(0,3),(3,0) (-2, -2), (-3, 0), (8,0), (0, 0)

3. hi8 7 A£X8 T j kanm- canb Hcp kaNXpew hcb jpl. CXis c=> ajel™
kgNnn § pT kwIJymtPmUnl— (1,2), (5,2). NXpcFlis a age I fpsS kwJymtPmUn
GsXns § ?

4. Blmnc_n p tl{ anbn 5 skan Bcap Hcp hrFlw hcan™ hrflhw kgNIng&e
8 fpw Bgwap<pq] _ 0 p i fpsS kgN B kwJyl™ GsXnms j ?

5. xAEXThse 1 pth{ anbr hcb §pl hrflfhis hynkw § bjWwhn  BW. Cu
hrflfhis Hcp hynkflhis Hc{K_1n p (60) Ffim at A{K _1 phis  kgN1
kwdyl™ F- nW?

6. kcaNXpcw AaBcD bn™ A (-4,0),B6,00 c,DFY0 _1n pi~ x AEFI\ XnsgbnmsW fn~
ChbpsS kgNTkwJdyl™ F- nwW? kaNXpcFlis Np fh Inwpl.

8. lk<am- cnllw ABcD bn™ A(0,0), B6,0), Cc 8.4) Ff1~ pbpsS kgNT kwdyl™ F- ?

e NphsS Xing hbr™ agfl _ 1 pi~ x AEFIN\ kan- camb Hcp tcIbnenW.
Ah GX?
(40), (23), 3, 2), (43), (03), (04), (0.5)

e NphsS XM hbn™ x AEZFIN\ kan- canbn x AEZFh™ \nfpw 2 bgwWh = A
sebp tcJdbise 1 pi”T Gh?
24), ( 22), (23), (52), (0,2), (2,0)

e xALXTI\ kan- canb tcJdbnse Hcp 1 phnW ( 24)
NphsS s InSpFhicn § pl hbn™, Cu tcJdbise 1 p g st kN1 § pT kwJymtPmUn
Gh?
(23), (20), (42), (2 4), (20)

e xALXTIh\ kan- canb tcJdbise Hcp 10 phnW (3, 5. Cu _n phn™ \i9[1 5
biWnh  Alse CtX tcdbn™ F{X 1 p§g~ D=>?

AhbpsS kN T kwdyl™ FgpXpl.
o (34, B5 FTYo _npi~— X%nep Alew F{X?
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h I go 2
hi8 — AL£S8  j kam- canmbn Hcp kaNXpew hec gpl. CXis  c> agelsT
kgNingpIl 0 pg W (12), 62). a agelst kgNi,ngpl _n pa~ Is=>FIplL.
Hcp hiaw 4 bgwWh pw Hcp 0o gw (3, 2) Dw he8 & AEX8 T j kan- cambpw hc
i nhpYl Hep kaNXpcFlis a ageBfpsS kN1 kwJy 1™ FgpXpl.
AEXS8 T § kan- canb ha 8 tfmS 1gSib Hecp NXpcFlis  aqf mo g I8 — (3
4), (6, 4) , (6, 10) ChbnW. \nemas¥l 10 gw GX?
hi8  A£8 T j kanm- canb Hcp kaNXpcFlis \ofw 6 bgwWn pw hoXn 3
bgwh panwW. CFlcw NXpcFlis Hcp age ( 3, 2) BW.
C{] Imcw F{X NXpc8 — hcb § mw?
Ahbn™ Hep NXpcFlis a agel™ kgNingpl _n pa~— FopXpl,
kam- cnlw PQRS ~ P(2,4),2(10,4),R(13,9) Ff1~ ss kNI kwJyl™ Gh?
ew__ lwABCD bnse AB,CDFTohi18 = XA Th\ kan- canW. AB=10 bgWn CD

=6 bW  BW. A-2,3),Cc (5,9 B 1 p. Ff1~ BDChbpsS kNI kwJyl™ Is>
Tipl.

ka‘pPkman- cnlwABcD b~ AB F9 hiw XAEZFfIN\ kan- canW. A@4,3), AB=6
boWh pw Ffn~ kman- cil fhis  a aje B fpsS kgN T kwJdyl™ InWpl?

ew_ IwPQRs ~ PQ,RSCh xBEFfIN\ kan- canW. PQ = 12 bqWh ' RS = 6bbqW1
B 119 p. P(-4,2),PQ,RSCh X%ep  Alewd bgwWr pw BIpfp.Rs XkgNTkwJy
I BW. Ffn~ ew__IwpPQrss as “magelfpsSbpw kgNT kwJyl™ InWpl?
hi8 — A£S8 " j kanm- c8 fmb Hcp kaNXpecFlis FXn ael™ (2 4) ,
(612) BW. Ff1~ kaNXpcfhis 7Jc,fh F{X?

hi8 = AEX8 "~ j kam- canb Hcp NXpcFhis  Hep hil fi Flis A{K 1 p
i~ B (7,4 Chbnw. NXpcFlis a agelfpsS kgN 1 kwdyl™ FgpXpl.
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h I go 3

L KINInZS8 = hca Gl v 1% skar Bbn FSFL A2,1),B 3,2, c(2-3) FI o _n p
i ASbnfs,SFh Aasc hcb jpl.

2. Gllv’skar Bbn FSHTL kgNInZES8 — heap Hep NXpeFhis 3 age 1™ (2.3),
(6,3), (69 BI1pY[p. NXpcFhis \memasFl aje GX?

3. (04) th{ anbn 5 skar Bcap Hcp hrFlw hcen™ hrflw x AE=EFfhs JWUn
i _pi” Gh?

4. aAbpsS kgNT kwJyl™ Jdbpl.

N
S
™

60

5. (25),(65) F9o_n pgfeqsS 1S t]mhpy] tcI x AE=Fh™ \nf FX Alse
bnw?
Cu _1pi~ X%iep Alea- ?
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Al ynbw 7
k<m[yX 1 FpsS KWnXw

BapJdw
\nsT kqcyx DZnjptan? Ffn~ GX Zngn” ? Poh\p hb §j acWapt=m? XpS§ 1b
tNnzy8 — § kwibansX DFlcw Jdbmw. Cq] 'ag s]eéptamn? C- y Hfw_ k™ ka fiw
t\Sptan? A%phis ho«wse BS {Jkhian™ 1p« s]fi mbic § ptan? Aht JooE=bn™
Pbn j ptam? XpS8 b \iXyPohiXFlhise Je {JkXmh\l1fiepy Hcp kw*h¥fhs kn[yX
sb jpdiop  kgN\tb InWn\p ¢ AXnbX Hcp A\n 1XXiFlhis  sNdisbmcwiw D>
tm GXit\bpw AF §pl FInaWt™n KWiXFlis [ %w. BrXyambn ~~ew {JhNn § nt
Lgbis™ frepw Cu A\n IXXisFl ATF gnt kEnbngpfl KWiXFhis  Hep imJbnwW
km[yXm k- m- w. NgXpBfibpambn s, « Book on Game of Change Fq[ {K W Gerolamo
Cardano Fq] C meibF KWnX 1mk({X F cNinp=>. Chevalier de-Mere F9] {™ = {1
JSHfbpanbn s, « Hep {J a\w Jmk< 8™ t\nS tNmzZn g plbp=>nbn. Ink § = s™ a
bpanbn \SFThb IFhS]InSpiHi~ \nW kn[yXn ki- m- Flhis B*1 ‘nhFflte j
\bmaX 9 1cpXs, Spvl p.
{1\ Bibsg —
kn[yX F9 Birbw
kn[yX kwJym]cambnr ImWpq] p.

kn[yX ITW jplgpT X\ Ffi © kX8 —

km[yX 1 fpw kwJy I Fpw

{Ih FI\w.

L apX™ 24 hscbp  Ffi ~ kwJdyl™ FgpxXib Im Upl™ Hcp s]«bn™ Ds=>9
BepXpl. (Hep Im™ Un™ Hep kwJyam{Xw). CXn~ \nq[ ' t\m gmsX Hcp Inm U F$Sp
Fin™ I Im U Xmsg Jdbpql XnteXi\mW 1¢SpX~ kn[yX F9 Bp<al tfnS
tNmZn g pl.

e 27 Ahkm\njpl kwdy Bipq Xo\

e 77 Ahknm\njpT kwdy

e 3s KWiXanb kwJy

e 55 KpwWiXanb kwJdy
3 KpWiX8 Tap htbgn 1¢SpXep Xn\m™ 3s  KpWaXw Bnen\nW BgSpX™
kn[yX FI ' Ipaal™ Is>Flpat
Ffrm 1pd==< kn[yX GXn\nW?
H kuwJdy, Cc« kwdy Chbr™ GX Iwam\nW B¢S5pX~ kn[yX FT18 s\bp
tNmzy8 — tNmzn g pl. Ipd==< knm[yX 77 Ahkm\n i pf kwJyb § "W H kwJy.
Cc« kwdy Ch c>n\pw Htc kn[yX Fpw Ipal™ Is>FInt klnbnjpl.
kn[yX kwJylfieqsS
C8 s\ Is>Thb kn[yXIst kwJdylfpanbn s, SpFIn t\m § mw.

114
1y
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sj«bn” Bsl kwdyl™ 24
35 KpwiX8 ~ 369121518224 F918 s\ 8 kwIyl™

AXnbX 24 kwJdylfi© 8 Ffianw 3s KpWiX8 . AXIN\n~ 3s KpWixXg
hen\p — kn[yX= 8/24 =1/3 F91 Jdbmhpq] XmW.

Xmsg s InSpFl J«l Jaci,ngpl.
Bsl kwJdyl™ 24 Ffiw

k ‘8§87 It kwJyl™ Ffiw km[yX

L 3s  KpWiIX8 ~ 3,6,9,12,15,18,21,24 ... 8

wh —

2. |27 Ahkm\nj T kwdy

3. |77 Ahkm\nj T kwdy

4. 155  KpWiXw

5 |H kwJy

6. |Cc« kwJdy

Jablbn™ \nql Ipd==< kn[yX, 1gSpX™ Kn[yX, Xpeyanb kn[yX F9h Inwpl.
1S X~ {Qh FIN§ —
L Hep \mWbw ap I fites § dibpql p. At,n— Xe (H) hem\p  kn[yXbpv hn™ (1) hen
\p  kn[yXbmw Inwpl.
2. Hep QIS Fdi=<m™ Cc« kwdy Bim\p  km[yX F{X?
(gN\: L, 2, 3,4,5 6 Chbr™ GsXfnepw Hep kwdy apl i~ hepat™m Cc« kkwJy 24,6
ChbnW. Ct,n kn[yX
= § =1

6 2

Ni{XFlIhse NXpcFhh™ Ifi Sa s ¥ki™ slin>p

Hep IpFln™ s g bU sNbX Xt InWFIh™ hcp
T R
.m|||||||II|I||||||||||||||||||m|m“““m“““m|“““““W”

4. Hcp sJubn™ 2s BZysFl 100 KpWhnX8 fpw as mcp sj«bn™ 3s  BzysFl 100
KpwiXg fpw FgpXnb Im Upl™ D>. 6s KpwWiXw FgpxXab In U I«nE GX
s]«br™ \nq FSp § pl XnW \"X.
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cs=>fi saSpFin~

c> 1S HYrsadbpy p. At,n c>nisebpw kwJylfpsS Xpl 8 hem\p
kn[yX InWWsaf[ici j s«. CX J«ls,SpFlmw.

I LIS JIS 2 Xpl Xpl 8 hepl X
1 1 2
1 2 3 2,6
1 3 4 35
1 4 5 4,4
1 5 6 53 km[yanm _Ipﬂ ’\e,§ TpsS
| 6 7 6.2 Bsl Ffiw 3. CXi~ Xpl 8
’ hepfl X5 Ffiw
2 ! 3 AXNNT Xpl 8 hem\g
2 2 4 k[ yX= 5/36 BWy
2 3 (ChisS Bsl Ffiw3 Fq X
9 6x6 BW F9 t_nm[ys,Spl)

Hep sJ«bn™ 5 shfpFl apFlphfpw 7 BdpFl apFlplfpw D=>. CXn~ \nq] Hcp apFl FSp
Fin™ AX LdpFl apFl Bhn\p  kn[yX F{X? XpS 9 Hcp shfpFl apFlpw Hep
LdpFl apFlpw FSpFlpan 1 sh § pTp. C\n sJ«bn™ \nq[  Hcp apFl FSpFIn~ AX
1dpFl apFl Bhn\p kn[yXbpw ImWplI? ho=>pw Hcp shfpFl apFlpw Hcp 1dpFl
apFlpw FSpFlpan b km[yXbpw ImwWpl. Cu {Jh FI\w XpS 9 mtemn?

Xmsg s ImSpFL J«nl Jgen,n g mw.
L« shfpfl apFlpl™ LdpFl apFlpl—™  L1dpFl apFl kn[yX G hpw
Im\p  km[yX B1gSpX~™ /1pdh

wW B>~ O1 OO

1 5
2 4
3 3
4 2
5 1

c> \mWb§8 T HYisadi““n~ c=> Xe hcm\p  kn[yX F{X? Hcp Xe an{Xw hcm\p
kn[yX F{X?

(gN\: Xe HFTTpw hm™ T Fq pw kgNn,niem™ Bsl kn[yanlpf] ©~€8 ™ HH,HT, TH, TT
F91h BWt™n CX 4 Ffiw.

c> Xe hepql X HH hept...m™ am{Xw.

AXN\n~ Xe hem\p  kn[yX = 1/4

Hcp Xeam{Xw hcpql X tH, HT F9th hept...mgnW. km[yX 2/4=1/2
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agey\n fi b kqN18 —
L c> J IS Fdibpt...n~ c=>ew Inpq] kwIyBFpsS Xpl Xmsg J«lbn™ sInSp §p
MTp. AX him\p  kn[yX Is>Flpl.

Xpl 2 3 4 5 6 7 8 9 10 il 12

kn[yX

kn[yX1fsS Bsl Xplbpw InWpl.

2. Ai8  Bh FfhignFfllaX™ 100 hschp Ffi = kwJdylfi- \nYl Hcp kwJy
FSFIn~™ AX 5s  KpwWiXamIm\p  kn[yX F{X?

3. aifl \nWbw HY nrsedibpt] p. km[yanb ~e8& ™ FgpXpl. CXa~ 3 Xe Ixm\p
kn[yX F- ? 2 Xe an{Xw Iwa\p  kn[yX F- ? Npcp8 1bX 2 Xe Iwm\p
kn[yX F- Hcp Xe am{Xw Inm\p  kn[yX F- ?

4, Jebw a<<bpw \rdFhep Bsl 18 t_nfplfp=>. CXa~ \nq[ Hcp t_msFSp 3 p
t.n Je\dFhep t n Ian\p  Kkn[yX /3 BW. Ffn1~ Hnten \ndFlep
t_ mfplfpsS Ffiw F{X?
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10 Marks
20 mts

UNIT TEST

Hep s«wbn™ 3 sh — apFlphfpw 7 HdpFl apFlphfpw D>. as mcp sJ«bn™ 4 sh
apFlplfow 6 IdpFl apFlpl fpap>. Ifi Sa Hcp apFl FSp jpt...m™ Int«=>X sh

apFInsWfn~ GX sJ«bn™ \nq[' FSp § p] XmW \™X? 2
aqq] i apfFf Hep kkwdy Jdbnt Bhiys,59p. CX Htc Aja kwdybmin\p
kn[yX F{X? 2

1000 Xmsgbp  Ffi © kwJdylfim Hep kwdy FgpXabm™ AX h—kwJybnln
\p  kn[yX F{X? 2

Hep kk =nbn™ 10 JopFl an8 bpw 6 J= an8 bpw D=>. CXa~ \nf[ Hcp an8 FSp
FIn~ Joean8 bn\p  kn[yX F{X? JgpFl an§ Inan\p  knm[yX F{X? 2

c> JISIT™ Fd=<n” c>1t bw KpW\"ew Hcp L\KkwJylim\p  kn[yX
Is=>TIpl. 2
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Al ynbw 8
sXmSphc ™

BapJdw

PymanXnbpsS JaiXmshq]  hiti gn,n§ s, bpeiUis  A“{nbFIh™ ™ Hep he Hep
hrflsFl k 1§plbpy, XpS 9 \ocibn™ Kk 1gnXicn g plbpw sNobXn™, B hc
hrFIsTI sXnSpql p.” Cu \n —N\w sXnSphe F9 BibsTl Q151,15 psafrew F— hf
hpl ™" gpw _m[lanl ¥l § \rebn™ D]tbnKs,SpFInt IgbnFIXnW. sXnSphe F9[
B ibw IrXyanbr \n —Nn g pfl Xa\' hii e\ PymaxXabpsSbpw Ahle\flhis bpw “nj
D]tbnKi§ Ww. CFlcw \n “"N\Flis Zraynhig ImcanW Cu JInT*mKw. PymanXnbnse
Ne\m BXbpsS{I[m\yw G hp 1gSpX™ N asN¢ s, SpIT InT“mKw B¢Son\WiX. hrflsFl
1pdie \mw t\csFl a\“1en § b \ich[n Bib§8 fsS D] tbnKw 1¢Sn A\nhmcyamloXm\m~™
hrfl8 = Fq Aynbfhs XpS sbmnbr Cu InT‘nKsFl InWnhpqJ] XnW.

I\ Bibsg —
>  hrFlfhs sXnSphc
> hrFflfthise GsXfiepw 1 phnegsS BecFIn\ ew__anbn hcb i pfl hc B _ 1 p
hise sXmSphcbnW.
+ hrflfhs GX sXnSphcbpw sXmSpl __n phnegsSbp  BcFInN\ ew__anW.
> hrFIFIN\ JpdFlp  GX _ 0 phn™ \nffpw c=> sXmSphel™ hcb §mw. 1 phn™
\iffp  Cu sXmSphc 1 fpsS \ofw Xpeyam\W.

< hrflflhisec> _ 1 pi~— \n fi bnjp9 sNdib Nm]F¥his th{ tInwWpwCu _ 1 p
i fise sXmSphel ™ §iSionep  thmWpw A\pJac 18 W,

<+ hrFflfhse Hcp RnWpw AXis  Hc FlpFF sXnSphcbpw X%ep — Hntem tBnWpw,
Cu RnmWis adphiaFlp  hrFlIJWUFhise tInwWi\ XpeyanW.

<+ Hep Xt ImWFhse agfl tInWpl fpsSbpw ka“mPnl™ Htc __ 0 phn™ JWUn j p9l p.
> (XneImWFhis  A- hrflw
{Ih FIN\w !
1Sen~1” \nMl' kaNXpchpw ka“pP{Xnt ImwWhpw Bp«al™ apdisaSp § pI7 p. kkaNXpc
Ths ASTFISTI he8 fpsS afy_n pg~ tbmPn,na aS g pflp. At,n Liab
sNdib kaNXpcFlis Jcahrflw hcb § p9 p. JpdsFl kkaNXpcFlis Hmtcm ha hpw
hrFIsTl Hep _n phn™ am{Xw sXmSpql Xmbn ImWnat ™ m.

CXpt]nse ka“‘pP{XntInW¥lis hiu8 fpsSaly__1n pi~ tbmPn,na aS jpt..m—
It XitInWFhs Johrflw hcb § p9 p. ChisSbpw JpdsTl ka“pP{Xrt InW
Ths Hntem hihpw hrFIsFl Hep _ 0 phn™ am{Xw sXnSpql Xmbon Bm\Wmw.

XpS 9 Ipal ™ t\m«ppkXTFI™ kaNXpchpw ka“pP{XtInWhpw hcb § pTl p.
aplfi” hohcie {Jh FIN\w AtX coxXabn™ hcapy InW)p § mhpq] XnW.
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Oy

(sFknSt S¢— D]tbmKnia Ne\m 01XbiegsS Cu Brbw hy amn g mhpfl XnW

{Ih fI\w 2
o}
o}
o}
20° 30° a0°
\\ (
A 5 skan B A 5 skan B A 5 skan B

N{XFIh™ InWpTl AThi™ ag tInwWpl™ t\m«p_p g1~ hcb g pql p. Hntemq repw
Atl{ anbn 25 sk nao Bcap hrFI8 fiw hcb i pTlp agfl k “8 fiewAB
F9 hc hrflsFl FX _1 pg ™ JWUi§pTTp FIT' N & sNepTlp.

(Cu {Jh FI\8 fieqsS hrFlsTl Hep _ 0 phn™ an{Xw sXnSpql hscb (AXnbX
sXnSphscsb) Bpdie Bpal™ § [mcW D=>mlpat™m)

qh FI\u 3

N{XFIh~™ pbise Hcp tInwis  ATh (x
s hie)
450, 50°, 60°70°, 80°, 85°, 87°, 90° 100°, B 1
F1 § ho[[w Hntem 1Sen= 1~ hco Hntemql pw >
IpanB™ § \7 1p9[p. o tl{ ambn 3 skan g}’
Bcap hrflw hcb jnf IpaltfnS Bh o
1ys,SpTp. A FY hc hrflsFl F{X 1 p X
i IWWngpip FIT' N & sNegpvlp. - = S
xS hie 90° A" mFlt,m ¢c> _1n p
i ™ IWUn§ pT pshqT pw, 90° tbmS ASp
ipt- mdpw IWWn g pl _ 0 pi~ X%oep
Alew Ipd=<phcpt pshq pw a\~nem § ma
t™m.xs hie 90° B Ipt...n am{XanwW Fq]
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hc hrfIsFl Hep 1 phn™ sXnSpf X F9T Imwmw. At,n— a8 FI hc hrFflFfs
sXmSphe B 1] p.

XpS 9 InTpkX1Ffhse t]P 146~ \~ hhb hii le\FheqsS NphsS sinSpFl
kmam\yXX:Flh™  FFltacmw.

hrflflhise GsXfrepw _ 1 phneqsS BeFIn\ ew__anbn hcb §p1 he, B _ 1 p
hise sXmSphcbnW.

35 sk na0 Bcap Hcp hrflw hca AXaim pFY _ 1 p ASbnfs,SFIpl. rpbise
sXmSphe hb §pl.

{Ih fI\w 4

Nm «t],dn”™ hca NiXw t\m g pl. N XFIh~™ O

ti{ anb Hcp hrflhise P FY __ 1 phn™  BgSn

bp  sXnSphbmW AB

orPb j ew_a msX pbr~ 1¢St hcb §pfI GX

hcbp hrflsFl as mcp __ 1 phn™ 1St IWU

i p. BN InWmat™m. (nT JpkX Tw t] P 149)

Pbn™ HIgSibp  sXmSphcbmls«, as mcp _ 0 p
B hn™ hrflsFl JWUnjplbpa. AXpsin>

ABFq hc orPb i ew__amW.

[ hrFlFlise GXp sXmSphcpw, sXnSpl 1 phiegsSbp  BcFlIn\ew ]
ambren § pw.
Q

1
N{XFIhh~™ QF9 _ 1 phrse
sXnSphcbnwW pPQ . ohr¥l
th{ hpw, <PQR=55° bpw

0 P Bbn~ <ora F{X?

N{XFIh™ o hrFltl{ w
B bise sXmSphcbnw AB
oB=8 skan 0A=17 skau.
B I

(1) <ABO F{X?

(2) AB F{X?
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{qh FI\w5

@ aABF9 hc hcbjgpl. a1 Wanl ¥l j hi[w Hcp a«Xnt ImWw \n %ot § p .

d) otl{ ambnHcp hrflw hcb §pl. hrfFIFTh\ JpdFl P FY _ 1 p ASbnfs, SFlp
1.op 1 Whp hrflflise Hep _ 1 p ax agebpw B 1 ¥ § ha[w Hep a«Xnt ImWw
\n %ot g pl.

c>mnatFIXn™ a<age AFY _n phnsW ™, hrFIsFl ASh  m\amgnpra F9 hc
bpsS {JtXyIX F- ?
(PAhrflis  sXnSphc Blbien j pat™n?)

A

op I Wanbpw, hrflise as ncp __ 1 p a« agebmnbpw a«{Xrt InwWw hcb § mtan? op hymk
anb A [hrflw Xmsg hcb jplbnsW i~ a«{XntInWw hcb j msaql pw a<aje sBF 9|
1 phmsW i~ ps hrflFlis  sXnSphcbmbicn § psal pw a\~ nem § mw.

ss]Ytkndk kn- m- apjtbnKia pa, P Chb § ' Htc \ofamsWq pw Em\Wnw.

hrFIFIN\ JpdFlp  Hep _n phn™ \nf[ c> sXmSphc 1™ hc
bimw 10 phn™ \nffp  Cu sXmSphc I fpsS \ofw XpeyamW.

(i) 32sk ma0 Bcap hrflw hcbjgpl. tI{ FIi™ \nff 8 sk a0 Alse »r
F9 _ 1 p ASbnfs,SpFlIpl. pbn™ 1St hrFlfhs  sXnSphel™ hcb §pl. AhbpsS
\ofw ATsT gpXpl.

i) 3sk ma0 Bcap hrFlwhcb jpl. AXi™ 4sk na0 \ofFFhh™ AaBFY Rn<
hcb §pl. Abn™ 1gSibpw B~ 1gSibn™ sXnSphel™ hcb g pl. sXnSphel™ JWUI
i 0 phn” \n[pw Abrte g pw Bboite jpw D Alew AfsT gpXpl.

{Ih FI\w 6

@  Xqengpl AT NXw hc
bipl. PQ FYo _n pg®™ 1gS
sXmSphel™ hcb gpl. Ch JwWuUi
il _ 1 phise tin< F{Xsbql
AT InwWpl.
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G Ni{XFIh™ PA, PB Ch A
sXnSphe 1 fmwW.o hrFltl{ w.
<APB=70° B I1pq[p.

< OAP, <0OBP Ch F{X?
NmJw AcBbpsS t1{ tImWis
ATsh{X?

(Cu (Qh FINFh™ <A <B,
Ch 90° hoXw BbXps In>
<APB+<AOB=180°Fq[ ' ImWmw)

B
hrflflhisec=>p_n pg~ tbmPnngp9 sNdib Nm]Flis
th{ tInWpw, Cu _ 1 pj fise sXmSphcl™ jiSbiep
tInWpw AN\pJqc lanW.
{Ih fIN\w 7
NphsS s InSpFl Hntenql repw O hrElt{ hp PA, PB Ch sXmSphc I fnWw.
A
()
<APB =50° Bbn™
P
< AOB =i
B
A
(i) <APB=80° Blmn~
< PAB =i, P ®0
< PBA =
B

MUKULAM MATHS



3) <AOB =100° Bbn™

A
4 <APB =40° Bbn™
< PAB =.oooiiii
P Y < PBA =
< AOB =i
B
A
(5) < PAB=55° Bbn~
< PBA =i o b
< APB =i,
< AOB =i
B

A
(6) < PBA=50° Bbn~
p 0 0 < PAB =..ooovoreeeen
<APB =
<AOB =
B < AQB =i



()

ChisS < pPBA=<AQB Fq ImWnat .

< PBA=X* Bbn™

< PBA 9 X AB F9 RnWw, Bbn™ 1¢Sibp  sXmSphcbpw X%0ep tin< BW. <

AQBFT X adpgha Flp  hrFIJWUFlise tInWpw.

hrflfhs Hcp RnwWmw AXis  Hce FlplgSibp
sXmSphcbpw X%nep — Hntem t InWpw, B tInWis
adpha Flp  hrfl JWUFhse tInWi\ Xpeyan

W.

(1) Q

N{XFIn™
bnwW AB

Pbn™ IgSibp  sXmSphc

<APR =70°, < BPQ=65Bbn~ A PQR

B S
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B
2
N{XFI™ AB hynkhpw PQ
sXmSphchbpanW.
C <PAC =65° Bbn~ A ABC bpsS
tInwWfhpl— InWpl.
A Q

P

{Ih fI\w 8
hrflfhis sXnSphc heb § pl X\ Bewhca AXis A FlplgSh ew__ambn Hep he he
b i plbnwWt™m sNbXX. t1{ w D] tbnKn §msX hrFlIFflise Hcp _n phn™ sXmSphc hc
b j p9 sX8 1s\sbq' t\m § mw.

hrflIfhh™ AFY _ 1 p ASbnfs, SpFln NphsS ImWpql Xpt]mse Hep thm< \n %ol
ipl

A

AC thbnPn,nx AXt\mS tN F1 Abn~ <ABcbpsS Afhn™ Hep tin< D=>mInFlIhn[w Hep
hc hcb jpl. Cu hc Abi™ IgSbp  sXmSphc Bbnen § pw.

(kgN\: BtI{ ambn hcb § p Nm]Jw
BA.BC Finhsb bYm{law D.E F 0
_rpag T IWU g p9 pshql nen §
s«. AtI{ ambn BD Bcflh™ hc
b i Nmjw Ac sb pbiepw P t{

anbn DE BcFfhi™ hcb j pfl Nmjw
BZystl Nn]sFl Qhnepy WU j p
11 p. <PAQ=<ABC Bbncn j pat™nm.)




h FI\w 9

A
(i)
N{XFIh~™ cbise sXnSphcbnW pPQ
<PCB, <PBC, < PCACh F{X?
Q C P
A
(ii)
Cu N{XFIhh™ A pcA, A pPBC Ch KZri
Xt ImW8 fmsWH9[ pw PAx PB =PC2 F9q[ pw
sXfibn § mat™m.
P
—o— C
(i)

N{XFIh~™ c bnise sXnSphcbnW pPc
PB=16 skan, AB= 9 skan

Bbn~ pc F{X?
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{Ih FI\w 10

3skar BcFhh™ Hep hrFlw hcb g pl. Hep tin< 40° Bb Hep ka“pPlkmam- cillw, h i
8 st™mw Cu hrFlIsFl sXnSY coXibn™ hcb §pl.

(gN\: hrflw hea 1400 tinWwn™ JWUn § FI § hi[w c> hynkw hcb §pl. hynk8
fisS A Flp  _ 1 pi ™ ¢S sXnSphcl™ hcan™ Ah tN p=>nlpfl NXp “pPw
Hcp ka“pPlkmam- cnllw Blonen g pw.)

e hrFflITIN\ GX c> hynk8 fpsSbw A 8 fieqsS hcb § pl sXmSphel ™ ka“pP
kmam- cillw D=>m § p9[ p. hynk8& — Jck]Jcw ew__ambmten?

{Ih fI\w U
2skar Bcap hrflwhcb gpl. hi8 = Cu hrflfhs sXaSphclfnbpw tInWpl ™
50, 60°, 70°, Bbpw hepql Hep Xt ImWw hecb g pl.

N{XFhh™ o hrFlth{ hpw
PQRCh {XntInWfhs hi
8 T hrFlIsFl sXnSpY[ _n p
i fpamsW fn™

<POR=130°, < QOR=120°
<POQ=110° B bicn § psa¥[ dibom
at™m

(gN\: hrflis  t1{ ™ 130° 120°, 110° B
tin< BIFfljh|[way Bc8 ~ hcip Q C
1. Bc§E§ fisS A FflIp 1 pi 7 hc
b §pl sXnSphel™ tN FI Inqq {Xrtln
WFhs tInWpl™— 50° 60°, 70° Bbncn § pw.)

1¢SmX AO, BO, CO Ch bYm{law <A, <B,<Cc ChbypsS ka“‘mnPil™ Bbicn § pw.
hrflw XrtInWFhs  A-  hrflanlp p.

e ChusS hrflw hca, hi8 = hrflfhs sXnSphcl™ B Il § ha[w Xt InWw
\ %ol § pEnWt™n sNbXX. Bzyw {XntInWw hca AXis A- hynkw hcb jp
97 sX8 1s\sbq t\m§ mw.

hrflfls c> sXmSphcl™ IJWUn§pl _ 1 phise tinwWis  ka“mPibon™
hrflth{ wD s,Spat™m? AXpsIn=> {XntInwWFhs agf] tInWpl fpsSbpw kka“m
Pil™ JWUngpfT X A- hrflfhs ti{ Ffhenbncn g pw.

L hE8 fpsS \ofw 55 skay, 7 skan, 8 skan Bb {XntInww hca A-  hynkw \n %on
ipl
2. AB=6, skai, <A=65,<B=75, Bb {XitInwWw hca A- hrFlw \n % gpl
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ka“pP {XitInWwFfhs A- hrflhw Joahrflhpw
N{XFIh™ ka“pP{Xrt ImnWw ABCbpsS
JohrFltl{ anw o F9q[ncn § s«
oD, OE, OF, Ch bYm{law BC, AC, AB
FMo hi8 — j
ew__anw
OD=0E=OF (FF- psIn=>"?)
BD=BF (F- psIn>7?)
AOBD= AOBF

<B bpsS k*“anPibnW BO
AXpt]nse < c bpsS ka“‘nPibmW co Fq[ pw <AbpsS ka“nPibmwW A0 F9[ pw EmWnw.
SO FY _nop XnieImWFhis  A- hrFlti{ ambucn § pw.
N{XFh~ oB A- hrflIBchw oB JahrfFIBchhpanW. AoBbbpsS tInWTfhpl™
30°,60°,90° BbXps Im>' 0B=2x0D AXnbX A- hrfl Bcflis c¢> aS8 nW Jchrfl
Bcw. as mcphn[FIh™ Jd<<n” JoahrfFIBchw A- hrfIBchw X%nep  Awi

w 2: 1Bloncn § pw.

M
o th{ anb hrflfhs
o N® P c> sXnSphc 1 faw MP, NP Fq 1.
\\ <MOP=70° Bbn~ < MPO,
<NOP, <MPN F9[1th InWpl.
N

P
o tl{ anb hrflfhss PQFfo __1 p

i fise sXnSphe 1™ R™ JWUn j pvl p. OR

F9 tcJ <PrQasb ka“nKw sN¢,pql pshql R
sXtibon g pI. CXa\mbon X9 ncn 5 pT {J kX

h\173p ImcW8 ™ FgXpl.

Q
1. APOR, AQORChbn™
OP=0Q ( cvooveeeeeeeeeeee e )
2. ORZOR ( coooeoeeeeeeeeeee e )
3. PREQR (oo, )
4. ARPOZ /A RQO (cooioooieeeeeeeeeeeeeeeee e, )
5. < PRO = < QRO ( coooieeeieeieeeeeeeeeeeeeeeeeeeeeee e )
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N{XFIh~™ AB hrFlflhise pPbise sXmSphcbnW.
PQ hrFlfins
< QPR F{X? <APR F{X?

hynkkhpy < PQR=50° bpw BsW

50°
R 10
-
A P B
N{XFIh~™ AB hrflfhs hynkhpw
PQ sXmSphcbpanW. < BDC=40°
Ff1~ <BAC F{X?
< PBC F{X?
P
A P B
< PRQ= .o, , < PQR = ...coooviinn, :
< BPQ = oo , < PSR= .o, :

< SPR+ < SRP = ..

N{XFI"™ APxAR=AQXAS Fq sXfibn j p
1. hrflfhse B FY _ 1 phise sXnSph
cbnW . PQ 1gSnsX AB hymk<hpw.
(gN\: APxAR =AB2 [ pw

AQxAS =AB*> F1[ pw

sXfibn § mat™m)

w
o

N{XFh~ AB hrFlfhhfhise P bise
sXnSphcbnW.PQ=PRDw < QPR =50° bpw
BsWfi .

P B Q
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N{XFI1~™ NXp “pPw ABCD sb AXis D 3 R
A- hrflw PQRS FTo 1 pigfim sXnSp 7
91 p. AP=5, PB=4, QC=7, DR=3 -1~
BQ= oo CR= oo DS=..oceeeeeeieens s
AS= o, AB= ..o BC=..vveeeeeeeeen Q
CD = oo AD= ...
AB+CD =, BC+ AD= ....coevrra
A 5 P 4 B
Q
R NEXFI™ AB Y tcJ hrflsFl Pbr™ sXnSp
11 p. <APR=70°, < BPQ=80° Bbmn~™ APQR s
tInwWfhpl— FgpXpl.
A P B

N{XFIh™ ohrFlth{ w. Abi™ I¢Sibp
sXmSphcbmnW PQ . <BAQ=65° B Ip[p. <

OAQ, <ACB Ch InWpl.

NyXFIhh~ P F9 tcJd hrflsfl M~
sXmSpql p. LM=MN Bbn™ LN || PQ ] sXfi

brgpl.
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B s\ b N{XFI™ xy F tcJd hrFfiIsFl AFq]

1 phn™ sXmSpql p. NXp “pPw ABCD bpsS

Fm tInWpl fpsSbpw Afh IW gnmjp

1.

50° 700

X A Y

M E

B
N{XFI™ MN F9 tcJd hrFfisFl
A bn™ sXnSpql p. < CAN=40° Bbn™
1) < ABC, < CBE, < CDE Ch InWj 1. A
2) MN| DE F9]p sXfibnjpl.
C
N
D
C
N{XFI™ PAFY hc hrFlsFl A
5 b1~ sXmSpql p. CB=4cm, PB=1 cm
Bbn~ pPA F{X?
A P
N{XFIh™ PQ sXmSphcbnW. S
PQ=PM=MN B 1pq[ p.
PR=1cm, RS=8cm Bbn™
1) PQ F{X? o |y i
2) MR F{X?
3) am F{X? S
N
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c> hrfl8 ™ MNFYo 1 pij
i WU § p11 p. MN F9 hcbrise
__ 0 phmW A. AB,AC Ch sXnSphcl
mw.

AB=AC Fq[p sXfibn pl.

N{XFIh~ o,c Ch tl{ 8§ fnb
hrfl8 fit AB Ch c>p hrfl
8 fiepw sXmSpY hcbnw.
AB=10cm, PB=20 cm, OA=5 cm,
Bbn~ BC F{X?

MUKULAM MATHS ..ot

N{XFIh~™ AB,BC,ACFYohi8 ™
hrflsfl bYn{law PQR FY 0
_0opg 7 sXnSpql p. BC=11cm, AP=4
cm, Bbn™ AR F{X?

/A ABC bpsS Np fsh{X?

N{XFlise c> hrfl8 fpsSbw th{ w O
BW. heib hrFlflhise AB FI Rn<
sNdib hrfIsFl pbn™ sXmSpq[ p. AB=5 cm
) spbU sNbX “nK¥fhis Jc,Tfshs{X?
2) ABbpsS afy_ 1 phnW P Fq[ sXfibn § p
1.



Alynbw 9
__Wpjzs

BapJdw

__0PKWIX JT\Fhs “mKambn _ Bp]Z8 — Fq Biabw H..Xmw ¢nkan™ AhXcn
S>>, AXis XpS abnw Cu Alynbw. kahmly8 fpsS Jcillmew InWpl F9]
{Intbnknl {Ja\Fhs “nKanbnW __ Bp]Z8 fpsS JT\w B“1 h“maX F9 s]mnXpsh
Jdbmw. kwJy 1 fpsS khnta g X1 fpw {Ihb 1 fpw Ahb § AS m\anb “uXnl kmnl Ncy
8 epanbn _ s,«mW cqjw sIn=>X. ChbpsS KWiX]canb hynJyn\FfheqsS __ EIp]Z
8 fpsS JT\Flite 5 pw Ch hym]n § p9l p. Hcp kkwJy as mep kwJybpsS LSlanlpy k¢
Th™ \nY __EpJzwas mcp___ Hp]zFhis LSHanlpy] K “wN @sNepp. CX mngSm
kaotm- Flnte gpw LSTkatn- Flhite gpw \bn g plp. __BpJZFhs LSIS8 7 1>p
TS apl {h FI\w __ Ep]Zkahmly8 fpsS Jceillmew ImWpql {lnbbmbon amdp9] Xpw
eyl {s+ A Rhigpip BgSmsX kahmly JenBmcFIn\ _ Bp]Z8 fpsS LSI{Ib
K Inb Lanhpy] Xmbpw InWmw. c=>mw IrXn kahnly8 — F9 Alynbhpw Cu A[yn
bhpw Jck]c Joci8 fmbn h Fhn g p9 p=>.

I\ Bibsg —
e kuwJylfpsS LSIlw FY BibTfheqsS __ Ip]zflis LSIwv FY Brirbw
e  Hp]Z8 fpsS BcWsTFI AS m\amgn LSTantWm F9 Jotanngny BcW
~ew (Jk  a .

° ngSkatm- w

e LSI kntm- w

e _ Np]Z8 fpsS LSI{lib

e kahnly JcilncFheqsS _ Bp]zZ8 fpsS LSI{lhib

e LSI{Ihibbn™ \1 kahmly8 fpsS Jcilmcw
1T\{Jh FI\8§ ™

tinfw Abise kahmlystl ASt  m\am §n tInfw B bise kwJybpsS LS 1antWn
tinfw cbise kwdy F9 Jertam[ngpl.

Set |
A B C
6=3x2 6 3
10=5x2 10 5
21=5x4+1 21 4
-15=-3x5 -15 -3
26=-2x-13 26 -2
-100=-25x4 -100 4
-38=-5x8+2 -38 -5
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p,ab FI1h Jq fi kwJdylfnhplbpy p=axb Bhplbpy sNbXn™ p
bpsS LLSIS W a,b

Set 2
A B C
48 +-6=8 48 6
-175+7=25 -175 7
376 +-4=94 376 4
-100 +2=-50 -100 2

Pab FI1h Jq fi kwJylfnhplbpw p+-a=0 Bhplbpw sNbXn™
PbpsS LLSI8 W a,b

Set 3
A B C
6 =12x1/2 6 1/2
-15=-45x1/3 -15 1/3
8/15=4/5x2/3 8/15 4/5
8=24/5x 5/3 8 5/3
-2=-10/7x7/5 2 7/5

99 kwJy 1™ sanFIFfh™ JoKWien™ LSIwv F BibfhnN\
Ok »rC™.

__W0p]z8 fpsSLSI8 —

1T\ {Jh FI\8 —

tinfw Abise kahnlysFl ASY  m\amgn timfw Bbise _ Bp]ZFhis  L.SlantWhn
tinfw cbise __ Bp]zw F9 Jertamngpl.

Set 1

A B C
x2-1= (x+1) (x-1) x2-1 x-1
x2-4= (x+2) (x-2) x2-4 x+2
x2-5+6=(x-2)(x-3) x2-5x+6 x-3
x2+7x+10=(x+5) (x+2) x2+7x+10 x+5
X3-6x2+11x-6=(x-1)(x-2)(x-3) x3-6x2+11x-6 x-2
x2-2x-1= (x-1-V2)(x-1+ V2) X2-2x-1 Xx-1-V2




Set 2

A B C
x2-1= (x+1) (x-1)+2 X?+1 X1
x2+1= (x+1) (x2-x+1) x3+1 X+1
2x%+x+x=(x-1)(2x+3)+6 XX%+x+3 2x+3
X3-8x2+7x+10=(x-3) (x>-5x-8)-14) X3-8x#+7x+10 X3
Set 3

A B C
x2-1="/,(2x+2) (x-1) x2-1 2X+2
x2-4=2[ (3 x+%,) (x-4) x2-4 ¥ x+%,
x2-5x+6="/,(2x-4)(3x-9) x2-5x+6 3x+9
X3:-6x*+11x-6="/ (2x-2) (3x-6)(2x-6) X3-6x+11x-6 2x-6

Px)FI __BplZwax)FY __Bp]zFhs LSlansWfn~ GX kwJdy
a’ FSpFInepw aP(x)FY __ Bp]Zhpw qx)s  L.STanWw.

I1T\{Jh FI\8§ —

1. x1=(x-1)@ax2+bx+c)+d Ff1™ ab,cd FI1h I >p]iSia x-1s  L.SlantWn x-1F9q ' ]
tanngpl.

2. x3+1=(x+1)(axz+bx+c)+d Ff1~ abecd Fnh I=>p]iSia x3+1s  L.SHantWn x+1Fq]
Jotam[ngpl.

EcW{libbn™ mngSw JqPyansW 1~ HEmcyanb _ Bp]ZzFhis LS
lanw Emclanb _ Bp]Zw.

NphsS sImSpFlnen § pql Hntem tPnSt _ Bp]Z8 fiepw BZytFIX c>matFlXnis LS|
antwn F91 Jertam]ngp.

° x-1, x3+1 ° X+2, Xx>+5x+8
° x-1, x3-1 ° X-2, X?+6x+8
° 2x+1, 8x3+1 ° X-2, x*+6x+10
° 2x-1, 8x3-1 ° x-3, x3-27

° X+2, X?>+3x+2 ° x+3, x3-27
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HYfmw BrXn LLSI8 ™
1T\{Ih FI\8§ ™

1. x3-5x2+8x+3=(x-1) (ax2+bx+c) +7 FF f1~ x3-5x2+8x+3 s L_SHamtWn (x-1)?
x*-5x2+8x+3 S\ (x-1) sIn> Bcionep  mngSw F{X?
2. x*+6x2-8x+10=(x-1) (ax*+bx+c)+d Ff1~ dbpsS hre ImWpl.
x3+6x2-8x+10 S\ (x-1)sIm> Bcmanep g Sw F{X?
3. x3H4x2Tx+6= (x-2) q(x)+r F 17 x3+4x%-7x+6 S\ (x-2)sIm> Bciomep  ungSw F{X?

nngSkatm- w

P(x)=(x-a)q(x)+r Ff1~ P@)=r,P(x) F ] Bp1ZsFl (x-aysin> Bciam™ Bnpq]
g SwP@ BW.

4. PX=Ex2qx) Ff1m px)s\x2)sin> Bcenep mngSw FXPx)s L.SHamtWhn (x-2)
Px)FT _ BpJZFhh™ PE=0Ff1~ Px) s\ x-3)sim> Bciomep  ungSw F{X?
Px) s L.STamtWnm? (x-3)
LSIkntm- w

Px) FY _ Bp]ZzFhh™ P@=0 BsWf1~ Px)s L.SlanW (x-a)
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Jon
L

2,

10.
1.
12.

13.
14.
15.

poe\ {]Ji\8 —

(x+1), (x-1), (x+2), (x-2) FI1h 3x>+7x-4s L.SI18 fmtWnm Jcitamngpl.

Xmsg X9 ncn § pq] Hmtem _ BpJZhpw x3+3x+2x-6 s L.S18 fmtWn?

(x+1), (x-1), (x+3), (x-3)

(x+1), (x+2), (x+3), (x-3) FI1h x3+4x>+x-6 s L.S18 fntWn F9 Is>TFIpl.
x7-1 s  Hcp LSlanwW x-1 Fq[ sXfbn § pl.

X50-x4 +x20-x10+7 ~ x+1 L_STamtWm?

(x+1) (2x+5)+4 s L.ShamtWn x+1 Fq[ Is>FIpl.

3x-1 F9[ ]2w 3x3-4x>+2x-6 s L_S lamtWwnm?

2x2-8x2-5x-25 S\ x-5sm> Hcigpt..mgp EngSw Is>FIhh LSlantWn Fq Jo
tan[ngpl. Cu Bibw D]tbmnKnia 2x-10 L STantWn F9q Is=>TFIpl.

(x+1), (x-1), (x+2) FIhbn™ GsX"mw Xmsg X9qncti g pfl _ Bp]Z8 FpsS L.Shamlp
safl ImwWpl.

x3+8x2+8x-17

2x3-6x2-8x+4

x3-2x2-5x-6

3x2-2x-7

x3-3x2-x

x*-5x2+8x-1 T\MS GX kwJy Bg«abn™ (x-1) L.SHambn hcpfl _ Bp]Zw Diepw.
3x>+x+8 S Hcp LLSHamtWn (3x+2) Fq[ Jertamngpl.

2x-5x2+7x+8 91 Hep __ Bp]ZtFInS GX kwJy bgabn™ 2x-1) F9 __ Bp]zZw LSI
am I pw.

x-5x+8 FI _ Bp]ZtFInS GX kwJy bgabn™ (x-3) CXis  L_SHamlpw.
2x-kx2+8x-3 sIm> Bciam™ mngSw 0 Bbn™ K F{Xbmbncn j pw.
2x2+kx+6 ~ P(-1)=0 Bbn™ kF{X?Cu __1p]zZzfhis c=> LSI8 ~ Is=>FfIpl.
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IquX Jormoe\ {JE\8 —
x> 3x2+8x+k F9 JZFIh™ Hcp x-2 LSlanbn™ k bpsS hne F- mbncn § pw.

2. x)F9 __Bp]ZFhis Hep LSHanW (x-a?). Ffn~ P(a)=0 9] pw P(-a)=0F 9T pw sX*1
bn inl.
ax*+bx2+cx+dF9 _ Bp]ZFIh™ x+2Hcp L.Slambn™ 8a+2c=4b+d 9 sXfibn  pl.

x+ax+b=0 Fq kahmlyFfhs TJcillmew5, 8 FnthbnW. Ffi1~ x2+ax+b FY __ B
JZsFl HY mw IrXibrep  c>p _ Bp]Z8 FpsS KpW\eambn FgpXpl.

5. x%px+gx-6 FI __ Bp]ZFhs c=> LSI8 T (x+1), x-3),F thbmbn™ p,g F91h
bpsS hiel™ Is>TFIpl.

6. 2x+px+qx-20 S Cc>p LSI8 T (x+2),x2 Bbn~™ p,qChbpsS hnel™ F- mbicn
W,

1. P(x)=2x2-7x2+4x-6 ~— P(3) ImWpl.
Q(x)=x*+8x>-15x-51 ~ Q(3) ImWpl.
Rx)=Px)+Q(x) Ff1~ Rx) s L.SlamtWn x-3 F9 Jctan]ngpl.
8.  P(x)=ax3+bx*cx+d ~ p(1)=p (-1) Bbn~ a+c=o F9[ sXfibn jpl.
9.  12x>-10x+2=0 F9 kahmlyfhs TJcillmew 1/3, 172 Chbmnbn™ 12x>-10x+2s LS
cqjw FgpXpl.
10, x*+5x2+bx-8 S Hcp L.SIwx+1 Bbn™ b F{X? Cu __ B1p]ZFIh™ x-1 Hcp LS lamtWn?
. ax+bx2+cx+d FY _ Bp]ZFhis Hcp LLSHw x+1 Bbn™ a+c=b+d F9[ sXfibnjpl.

)=
)=

LSI{lib
IT\{dh fIN\w
x+2x-15 F9 __Bp]Zfhs LSI8 — InWWsaflicn g s«.

Px)FT __ Bp]ZFhh™ P@=0 Ff1~ Px)s L.SlanWt™m (x-a)
AXnbX, Px) s LSIw InWpTI X\ Px) =0 BIpfl xs hiel™ Is>Fhbn™
axXibbt™m?

x+2x-158 LS8 7 ImWpY] Xi\ x2+2x-15=0 B 1pf] x hie 1™ Is=>FIWw. (kkahn
lyFhis TJolmncw) Cu kahmlyfFhis  Joallmew 3 As™ fi~ 5 BW.

P(3)=0; P(-5)=0
AXpsIn> x2+2x-155  L.S18 TnW. (x-3), (x+5)

NphsS sInSpFlic § pl Hmtem _ Bp]ZsFlopw Hf mw BrXn _ Bp]Z8 fpsS KpW\™
eanbn FgpXpl.

° X?-3x-28 ° 6x%-11x+3
° X?-X-6 ° X2-2X-2
° X>+5x-14 ° X2-4x+1
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| (x+a) (x+b) =x2+(a+b) x + ab

Jocnngpl

x2+9+20 = (x+5) (x+4)

X2H13X+30 = oo
X2HTXHT0 = e
X2H20X+36 = oo
X2H15X+50 = e

x2-8x+15 = (x-3) (x-5)

X2 BXH 1D =

X2 20X+ T D =

X2-10XH 2T =

X2+4x-5 = (x+5) (x-1)

X24 TX = B0 = o

X24 2X =48 =

X24 10X - 11 = e,

x2-4x - 12 = (x-6) (x+1)

Xmsg Xq[ncn § pT c=>mw IrXn kkahmly8 sF LSI8 fmgn Joalmew Is>Flpl.

eg. x*#9x+20=0
(x+5) (x+4)=0

SoX+5=0 AST 1T x+4=0

S.x=-5x=4
Jenlmew -5 or -4
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Jome\ {JaN\8 —
LSIS 7 Is>Ffh Joalncw ImWplI.
x%-7x-18=0
x?+13x-30=0
x?-3x-70=0
x*+7x+10=0
x?-5x-14=0
x%-10x-11=0
x%-10x-11=0
x?+20x+36=0
x%-8x+15=0
X%-4x-5=0
x%-4x-12=0
x?+15x+50=0
x2-3x+2=0
x?+7x-30=0
x%-x-12=0
x%-8x+15=0
x%+x-30=0
x%-20x+75=0
x?+2x-48=0

t{InP 1S
x-1, x+1, x>-1 ChbntesXfrepw L.S18 fnbn hepfl _ Bp]Z8 fise KpW 18 fpsS
Khiti g X177 sht—sd 1 >p]nSi 3 pl.

KON\ axs+bx+ox+dx2+e-x+f F[ _ Bp]ZFIhh™

x-1 LLSTamsW fn~

a+b+c+d+e+f=0 Bbicn § Ww.

x+1 LSTamIWsaf1~

a+c+e=b+d+f B TWw,

x>-1 L.SlamlWsafn™

x2-1=(x+1) (x-1)

CXn™ x+1's bpwx1s bpw{JtXyl X1~ D=>mnbucn j pw.
.. atcte =b+d+f=0

. 2(b+d+f)=0 Bbncn § pw.
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A ynbw 10
PymanxXnbpw  oPKWXhpw

BapJw

Jck]cw ew_amb c> tcJdIlfpw bp amb Hcp G Thw FSHFL Xeflhise 1 p
i st kwIyntPnUnsIn> kgNn,ngmat™m KqNIn£ZS8 fise 1 p§g~ X%nep Alew

InWPTT X N kwJyl— F9 AynbFIhh™ N & sNbXt™n CXis XpS abmnW Cu
InTmKw. ChisS ¢c> _n pi~— X%anep Alew Is>Flplbw CX D]tbnkKia Nie
PymaXob {J #\8 T § _ oPKWiXFhs KkEInbtFInsS Jcilmcw ImWplbpanW sN¢p
11 X.

\oftFlbpw “‘mcsFlbpwa pw kwJy I fm § 1bmX t]mse Hep hebpsS sNeihns\bpw kkwJy
sin> kgNn,n g msaq] ChnsS N asN¢ pql p. Hep hcbise 0 p § fpsS kN B kwJy 1 FpsS
Jck]c __ sl AS  m\anm jn hcbpsS kahmlyw cgJolcWhpw ChisS \SFIpq[ p>.

XpS 9M1p (Db 1) ¢nkplfi” N ©sNes, 51 a h{ltcI I fpsS kahmly§ sf
Ipdimp  JT\Fhis XpS j saf coxnbnenW ChisS hcbpsS kahmlyw N asNg¢ pql X.

I\ Bibg —

L Hcp _ 0 phpw B[mc _ 1 phpw X%0ep  Alew.
2. c> _ 0 pi~ X%iep Alew
3. hcbpsS Ncth F9 B i bw
4. hcbpsS kahnlyw FY B ibw.
h § Jo
L
5_ B
4_
3_
7 0A,AB,08Ch InWpl.
B bpsS kuwJymtPmUn FgpXpl
1_
A
| | | |
o L2 3 4 5
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2. c 6:8)

AB,BC,AC Ch F{X.
BbpsS kgN 1 kwJyl™

FagpXpl
A B
3
c (12,5)
oc=cB Bbn™
oAAc,ocCh ImWpl.
oB F{X? BbpsS kwJymtPnUn
FagpXpl
0 A B
4
A(10,24)
oA F{X?
o)

5. Blnc_n phn™ \nql (104) tejp Alesa- ?

D (3:4) k<mam- cnlw aB,c,o b1~ c bpsS
C kwJyntPmUn FgpXpl.
kmam- col Flrs hir8 fpsS
ATh FgpXpl. ac bpsS \ofsa- ?
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C638) NXpcFlis  \ofhpw hoXnbpw
InwWpl. 8D, ChbpsS kwJyn

tPnUn FgpXpl.

A 00) B
S
A(6.,9)
hrflflis Bcsa- ?
hrflv kiNLAEZ S sf
- R o JIWUIipT _1 pi
P O fpsS KN 1 kwJy 1™
FgpXpl.
R
{Ih FI\w
B

{Kn™t],d” ABFY hc hcb gpl. Aciliep  hcl™ kgNIn&ZE8 fmbn FSp § p
1. A hnl fi ambn Hcp NXpew hcb § Ww. CXis hi8 & A£8 ~ j kan- canm
IWw. NXpcFlis  \ofhpw hoxXnbpw InWpL. hnl fi Flis  \ofhpw ImWpl.
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e ABChbpsS kgNT kwJdyl™ Inwpl. kN1 kwJylfpw Ct,m Is>Fhb \of
8 fiw X%ep _ w Is>Fhh AhXcn,n§pl.

h § o

L NXpcw AB,cobpsS he8 & AEXS8 ~ §j kam- canW. A23),c 8,11) NXpcFlis a
aje 1 fpsS kN1 kwJy 1 ImWpl. NXpcFlis  \ofhpw hoXibpw ImWpl. NXpc
fhis hol fi Flhis \ofsa- ?

2. Hcp XefFhep 0 pi faW pbpw @Dw P2.-3),Q5.-7) Pahnl Wambn, hi8 &~ AE
8 7§ kam- cambn NXpcw hcb g pl. NXpcFlis a ajelfpsS kN1 kwJyl™—
FgpXpl. NXpcFlis Np fh InWpl.

3. BJmc_n phiegsS 1S t]mlpq HeptcJdbnse 0 p g fiWa@a4),8(5,10). Bmc_n p
hh™ \iql Abnte § pw, Bbrte gpw D Zgcw ImWpl. ABFT0_ 10 pi~ X%iep Al
esa- ?

4, k<mam- cnllw AB,c,Dbn™ A(24),B(104),D(58)C bpsS kqNT kwJy InWpl. kmnam- ci
Ifthis hi8 fpsS Afhpl— InWpl.

5. A(25)B@49)C(715.ABCFT 0 _1n pg~ t\ tcdbrenW Fq sXfibnjpl.

hcbpsS Ncih

xAXE T\ kan- c8§ fnb hclstlpdiopw y AEFTIN\ kan- c¢8 fnb hclst Ipdi
apap  Nie hikeXpX1T™ KN kwdyl™ F9 InT“nKFl N asNbXip=>. ChisS
Hcp hcbise 1 p g fpsS KN 1 kwJy ™ X%ep  Hcp ic__w Is>TFI1pvp.
Cu __ sTl AS  m\amjn hcbpsS Ncihis\ Hep kwJdysIm=> kN, n g plbpw
SN pal p. AXi\mbn Ipar BZyw Xiciaditb > hkkXpX hclfpsS Noh, F Bi1b
anwW. Ncih 1gSpXep  hc, Neth 1pd“< < he Fq JdbpTl X. - 1s\ AS1 m\anm
i bmW ChisS Hep hc x A= hpanbn D=>m § pfl tInWis\ ASr  m\amgn hc
bpsS Ncihis\ Ipdiap Jdbpq] p. Nah F9 B abw FFh § phnE NphsS s InSpFin
«  {dh FI\w \7 Imhpi] XnW.
{Ih FN\w
Hep (Kn™ t] ,di™ xy AES8 — hea A )B@4P(12Q@6)FIo _n pi~ ASbnf
S,SpFIpl. ABFY[ o _ 1 pg st tbnPn,na Hcp he heb §pl. AsBFY] hc Ccp hi 8
fite § w \o«r hcb g pl. CXpt]mse ra F9 0 __ 1 p § fpw thmPn, e o« hecb j pl.
Cu {Jh FI\w sN¢pt...m™ e“ng pl c=> hchfpsS {JtXyI X1 Ip«i N ©sNg
s«. Cu hclfise GXn\pw Nne _n pg fpsS kgN 1 kwJdyl™ Is>Fh FgpXphnt
Jdbpl. CXaim Hep he x AEEFInS ASFIp IS pTlp FTTpw at X xAEFh™
\nql pw BpdaplgSh AlefhensWq pw InWs« as mcp XcFh™ Jd=<“m”™ HY masFI
hc xAE hpanbn D=>mnlpy] tInWis\ §n— hepXnW. c>masTl hc x AE= hpanbn
D>mjpYl thm< CXis\ as mcp XcFlhi™ Jdbmw. HY masFl hctb § ™ Ncih 1gSp
XenW. c>masFl hcb j. C8 s\ hcb i Hcp Neoh D> F9q]' XiciadihneqsS
AT FogpXpT coXn InTpkeX 1 Flise {Jh FINTheqsS Ipabn™ FFIn g mw.
h § o

L (25), G) Fo _n pgtegsS 1ST pt]mIpy] hcbpsS Neth F{XbnW?

2. (39 FM _n phnegsS 1S ptImlpyl hc AE=FIse (40) FI _ 1 phiegsS 1S
91 ptInIpql p. hcbpsS Neh F{XbnW.

3 (L) B5 F9o _npagen B1gS 1SY ptImhpY hcbpsS Neth F- mW. Cu hc y
ALsTlI JWUngpl _ 1 phis kNI kwdy F- 2
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10.

(28), (46) F9o 1 pg freqsS 1S pt]nbpy hc (73) F _n phiegsS 1Sq] pt]m
19 p F9 sXfbn g pl.

37, 49, G1) FINo _n pi~ Hcp tcdbrse 1 pg ftW F9 sXfibngpl.
A(13), B(26), c(48) FIo _n pig~ tbmPn,na Hep Xt ImWw hcb § phnt km[ya™
F9 sXfbn g pl.

27, 613), 312) F9o _n pg~— tbmPnn= Hep (Xt ImWw \n %ot § mF kamn § pw
F9 ka ngpl.

(20) F9 _n phnegsS, Neoh /4 Bbn hep] hcbise a 'c> 0 pi~— FgpXpl.
(24), (510) F9[o _n p§ st tbhnPn,ngpl hcbpw (1,3) (412) Fo _ 1 p§ st tbmPn
L1 i P hcbw x AZEhpanbn D=>mn 5 p tInWpl— hyXykXanW F9] sXfbn § p
|

@5, 315 FIMo __n pgsft tbhmPi,ngpy hcbw (23), (312) FYo 1 p§ st tbnPrn
a0 hcbw kan- ¢8 = F9 sXfibnjpl.

hcbpsS kahm I yw

Hcp hecbise 1 p i psS xy KGNT kwJdyl™ X%~ Jck]Jcew F8 s\ s«
il p. FIInW Hep hebpsS kkahmByFlhieqsS InWh g p9T X. DZn B cWambn Hep he
bise 1 pg fpsSsb™mw y KgN T kwJy 1™ x kgN I kwJy 1 fpsS c> aS8 msWfi1~,
Cu hcbypsS kahmlyw y=2xF9 ' Jdbpq[ p. adia Hep hebpsS kahmByw y=3x+1 F fn™
Cu hcbise 1 p g fpsS x kgN I kkwJybpsS agf] aS8 nt\mS I Tg«bXmW y kN 1
kwJy. InTpk I Fhise {] FI\w sN¢pql XneqsS Cu c=> hikXpX 1 fpw Bp«abon™ Dd
L § =XmW. B1¢SnsX Hep hcbise 1 p g TpsS kwJdymtPmUn I FpsS 1g«<hpw, hcsb
kNn,n § pl kahmlyw A\pkoen § pl  kwJymtPnUn Bgchpw HYT p Xs9 bmsW 9 pw
195 Xncradnb Wi,

h § o

2x+3y - 10 =0, kkahmlyamb Hcp hcbise GsXfrepw aqf _n pg~ I=>pInSigpl.
x3y+6=0F9q hcbise Hcp 1 phmtWn (2,4)

3x-2y=6 F9[ hcbpsS Ncoh F- nW

2x+5y-4=10 F hc xAE=sFl IWWn T _ 1 p GX?

y=2x F hc B[ncm_n phnegsS 1S p tmlpYp FY ka 1§pl.

2x+3y=10 F9 hcbpw 3x-2y=12 FqY hcbp Jck]cw ew_ 8 fmsW9q[ sXfibn j ¢.
3x-4y +5 =0 Fq hcbpw, 3x-4y=10 Fq hcbpw kan- c8 fmsW9q[ ' sXfibrn j pl.
2x+3y=6Dw 4x-3y=10 F9[ hcp Fg«wappq] 1 p GXnW.
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UNIT TEST

L 68 F9 _n pth{ anb hrflwxAZ£ZsFl Hcp __ 1 phn™ an{Xw k] ungpp. (81)
FNN _ 1 p Cu hrfIfIN\ JpdFIntWn? A1FIntWn?

2. (3D, (13 FYo__n pi~ Hep kaNXpcFlis ASFISTI c> 10 8 fmbn™ Jc
,fTh F- ?

3. Hecp kmam- aol Flis m0 8 7 (1,3), 31 (44) (26) Chbmbn™ Np fh ImWpl.

4.
A
c (34) tI{ ambn hca hrflw B[nc
C(34) 0 phnegsS 1S ptImipgp. Cu
hrflw kgNImwE=8 st JWUI § pvl
a _npg InwWpl. ABc Ch Hcp
t\ hchienw Fq sXfibnjpl.
O B
kgN\:

L A Thrfilfhise tin< actin< F9 B i1bw D]tbnKia,
2. Zicg T D]tbnKia
3. Ncnh D] tbnkKia

5. 5x+Y-13=0,3X-4Y+6=0Cu tcI 1 § s]mXphmb _ 1 p InWpl.

3X-4Y +6=0,4x+3Y-17=0 F9[ 0 tcI 1 fpsS s mXphmb _ 1 pInWpl. Ch Jck]jcwew__
ansW9q[ sXfibon g pl.
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Al ynbw 1
nXnhnhe § W 3

BapJdw

hihcts IcWTlis  “nKambn e*n § pl kwJdylst hh—tlcn j w. Ahsb hi*nKg fpw
Bhrfhl fpanbn J«als,SS5FI e‘ia hihe8 st hie e\w \STIpY {Jh FI\§ fnW

Xaohihe § W i F Aynb¥h™ {JXi]nzn § p9T X. Hep {JtzusFl Bp 1 FpsS {Inbw,
BtcnKy X, kn...FInl \nehncw, Bp«BFpsS JT\\iehmcw, a iXahnhe § W g p
1™ F9h hiom le\w sNenF an[yw, afyaw, aliXw apXemb kwJdyl™ D]tbmKn §n
safl H..Xmw ¢nkan™ JeiNbs,«p=>t"mn knBNcy8 = A\pkca “uxil {Ji\8 ™
hia Be\w sN¢gnt CFlcw mcnial™ \ap i KpwW{]zZanw Bhrfh J«al 1Hfi~ \uq pw
an[yw, afyaw Foth IW gnm§pl coxXibnwW Cu A[ynbFh™ kN1 § pTl X.

{1\ Bibsg —
° Bhrflhi,«lbr™ \n[ an[yw Is=>FIpq X0\
° K = 1Xnhr¥ln
° Bhrfli,«lbr™ \uf a[yaw Is=>FIpq X0\

Hep Bog«w kwJy B FpsS an[yw ImwWnt AhbpsS Xplsb Ffiwsin> Jcilcian™ axn
bs™m.

PohInmcpWy {(Jh FINFIN\ kilgfise ]I Unhig\pIfi~ \nf' Hcp 2hkw kacg
T Xpl NphsS sInSpFhicn g p9l p. Xp B bpsS am[yw InWpql sX8 ns\?

170, 170, 150, 200, 170, 180, 160, 180, 170, 200 Hmtcm Unhng\n~ \nq[ pw rcrisaSpFl Bslh Xpl

= 150+ 16+ (4 x 170) + (2 x180) + (2 x 200)

=1750
Ipal ™\l JociseSpFl acmicn Xpl.
= 1750
10
an[yw 175 cq].
{qh FI\w !

¢Cnkase Ipalst A= {Kg,pIfnbn Xicieps In=> {Jh FI\w \~ Inhpy[ XnW.
gowplS€ Ipal™ § AhcpsS Jqg Fhibnb hb“is  an[yw Inw~

gowp i S€ Bpan B FpsS “mew (G1tZuw) Is>Fh, ‘mcFhis an[yw ImWpl.

gowp ise Ipal™ § GsXfrepw Hep bgWn 1 sS 1\ e“ma am gns  am[yw InW™ .
group IVS€ Dp«a I FpsS DbocFlns  amyw

(Dpa B FpsS Ffiw hyXykXambnen § pw)
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ah FI\w 2

{Qtzi ¥~ Hcp ankw e“na agbpsS Afhpl™ J«lbmnbn sInSp § p9l p. Hep 2hkkw
e‘na agbpsS mcmict 1> t\njq

agbpsS Afh aocao Zhk8 TpsS Ffiw
40 2
43 |
46 5
49 8
51 7
54 4
57 3
agbpsS anf[y Afh = (40x 2) + (43 x1) (46 x 5)
+ (49 x8) + (51 x7) + (54 x4)
+ (57 x 3)
30
...............
30
qh fN\w 3

Hcp klgfise 40 BpalfpsS Dbcw AT IW gngib J«l NphsS sInSp g pvl p.
Dbcflis am[yw F{X?

Dbcw sk.an Lpan B FpsS Ffiw
110 114 4

114 118

118 122 10

122 126 il

126 130 5

130 134 2

134 138 1

o 10U4 FT hi‘mKFhiep  Hmtem Bp«abpsSbpw Dbcw F{Xbmnbn JclkKWin § mw.
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2,

\nfolcn i pfI"™\ B hi“nKF¥lis
sSbpw an[yw IW gngnbon™ aXn

KN\ hn“nKg tfmSplgSib Bhrfln J«lbn™ Hmtem hi“mKsFHopw {J X
Xmgql Jen[nbpsSbpw Db 9 Jennbp

10 114 F9 hi‘mKFhep  Ipal fpsS Bsl Dbcsa{X?
Hntem hn*nKFIisebpy Bsl1 Dbcw InWpql sX8 s\?

KgN\ : hn*mKEflis  an[yw 1> BhrFfhsin> KpWhn § mw.

AhcpsS Dbc8 1psS Xplsb{X?
Bsl IpalfpsS Ffi sa{X?

Fm Bp« B fpsSbpw Dbc8 fpsS an[ysa- ?

105X~ {Jh FIN\§ —

hihn[ {JtZa8 fise 40 1 g1 sXngienfil™ § e‘ma Zhk j genbpsS hihcw J«
1 bmbn sInSpFhien § p9 p. Zihk § genbpsS anyw ImWpll

Igen (cod)

BfplfpsS Ffiw

200 250
250 300
300 350
350 400
400 450
450 500
500 550

— W O oo

Hep sJ«bise 100 k{Bghis  \ofw J«Bmcg] FIn™ Xmsg s ImSpFlicn § pql p. \oFFlns

anfyw ImWpl.
\ofw (an.an) Ffiw
33 35 15
36 38 19
3941 23
43 44 27
45 47 16
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3. c¢c> Smlkn ss{Uh an § GXm\pw Zihkw Inab Im hmSEsb Bpdn g p9l J«l
NphsS sInSp g pip. B §nW acnict B1gSpX™ hepan\w BabsXq Is=>FlIpl.

2000 2100 3 1900 2000 6
2100 2200 5 2000 2100 4
2200 2300 g 2100 2200 5
2300 2400 7 2200 2300 8
2400 2500 2 ;288 ;ggg ‘31

25 N

4. Hep enk JeooE=br™ e‘na am s J«al sImSpFlhicn g pfip. am gnrs  amyw 27
BW. K bpsS hie Inwpl.

an j I« I_fpsS
Ffiw
010 2
10 20 3
20 30 7
30 40 5
40 50 k

5 Hemap]{Xon™ Hcp Zihkw {Jthian, i temKnl FpsS {Jmbow J«lmcg] £~ sInSpFln
cgpp {(mb¥hs  anfyw ImWpl.

{] nbw temKa l fpSS
Ffiw
010 7
10 20 3
20 30 2
30 40 5
40 50 2
50 60 8
60 70 10
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6. Hcp hm Unse 100 BpSpw_ 8 — ssZ\wZ\ sNehite § {]Xnamkw apS 5 p9l Xp 1 bpsS
J«@ NphsS sInSpFlnen § pq p.

sNeh cq] lpSpW_§ TpsS
Ffiw
1000 2000 40
2000 3000 30
3000 4000 10
4000 5000 8
5000 6000 7
6000 7000 5

anfyw Imwpl? an[yw Is=>Ffhb B~ ]d““p. hn Uise 40 aXam\w IpSpw__ 8
pcnocn sNehns\ g m— BpdhnW, {]Xnamkw sNehg § pfl X. CXis\ Bpdnia \n8
1sS Af{]nba- ?

Bhrfh,«lbpwv afyahpw

Hep Bgaw AThplst BtenBW {lafh™ FgpXibn™ a[yfIhh™ hcpf Xnw a[yaw
F9 X H...Xmw XcFhh™ JTiang=>t"m

DZm B cWw: Hep tem«dn hne ]\ § mc\ HemgNbrse Hmtem Zihkkhpw e “ia hepam\w (cq
Jbn™ ) NphsS sInSp § pp. hcpan\Fhis ayaw W gmgpl.

75, 135, 90, 210, 300, 180, 240

BtenBW {lafFhh™ FgpXpt...m™

75, 90, 135, 180, 210, 240, 300

alyfhh™ e“njp X 180. BbXpsIn> a[yaw 180 cq]bnw.

hihcg = Bhrfn, «bpsS cq] FhensW fiepw afyaw F9 X a[yFh~™ hcp] AT
hnbncn § Wat™m.

Hep ¢mkase 35 Bpal FpsS “mchpw Ffi hpw J«albr™ NphsS sInSp § p9l p.

“NCH (kg) I« I_fpsS
Ffiw
32 2
34 6
37 10
38 il
40 4
43 2
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‘ncFhis afyaw IW gnjgpl.
35 DpalFpsS “mew BtenBW {laFfhh™ FgpXplbmsW i~ 18 masFIXmbicn § pat™m

a[yaw.

32kg “‘mcap  Bp«n B FpsS Ffiw =2

34 kg hsc “mcap  hcpsS Ffi w =2+6= 8
37 kg hsc “mcap  hcpsS Ffi w =2+6+10= 18

- 18 masTl Ip«ibopsS “mew 37 kg.
BbXn\n~ am[yaw 37 kg.
sNbX {Jh FI\sFl J«lbnbn sInSp§plbnsWfnr .

“NCH (kg) Ip«nl_fpsS
Ffiw

32 hsc 2

34 hsc 8

37 hsc

38 hsc 29

40 hsc 33

43 hsc 35

18 maX 37 kg.
. am[yaw 37 kg.

a”a]m™ ISbn” 20U Pgenb ank ™ sNehnb Jmers hihcw J« I 'bmbn NphsS
sinSpFlnen § p9 p. alyaw ImWpl.

Jners  Aeh
(en dn™)

Zihkk8 fpsS
Ffiw

38
41
45
47
52
54

NN B~ © o O Ww

CFlcw Jabl 1™ \nffpw afyaw IW gnm grota gw hi*nK8 fiw Ahbitemtcnq]
sebw BhrFlnl fpanbn Nics , SpFlhib J«lbn™ \nffpw ayaw IW gngpT {J8\

8 fiteg IS§mw

hi*nKg tfnS 1¢Sb Bhrflh,«blbi™ Hntem hi*‘nKfhisebpy Db q]

Jolh hscbp  BhrFlill ™ BgasbgpXibn™ T Xis\bnW k= nXn
hrfln F9 hnfn g p9] X
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Hcp mI\FIh~ tPmersNeptl Poh\ gnepsShb=ns\ kw1 g pT J«il NphsS

sinSp a pp.
- tPmen § mcpssS
hb Ffi w
25 30 1
30 35 4
35 40 9
40 45 8
45 50 5
50 55 3
Bsl 30
- tPmen § mcpsS
hb Ffiw
307 Ipdh 1
357 Ipdh 5
40~ Ipdh 14
45~ Ipdh 22
5~ Ipdh 27
57 Ipdh 30

Kk = Xnhrfh J«l
FgpXn afyaw InWpl.

Hntem L«Flise hn*nKFlise kwJy 1 fpsS an hpw k= iXmhrFInl fpsS an hpw B\p
JnmxobamsWe Kf~ ,Flis A

K = Xnhrflh Bsl BhrfhbpsS t\ J1pxXi Blpt..ngp  kwJybnW (apl fise

J«@lbn™ hb®) a[yaanbn FSpt § > XnW.
aplfi” sInSpFl k = Xnhrflh J«xlbn™ hb< s

m\FhenW afyaw IW gnjpI X

\ic jrise kwJylst x hnel

fobpw k= Xmhrfhilst y hielfmbpw FgpxXabn™ - i«

35

40

45

50 | 55

14

22

27 | 30
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xhne 1 fpsS an hpw y hne 1fpsS an hpw B\p]mXnlansW9q] K fe]i i pIp. CX D]
tbhnkie x Bbn FSpFl kwJy 1 fpsS CSbrep  Hep kwJdybpambn s, « y kkwJy
GsXq ' Is>FInw. DZnBcWanbn apl fi~ sInSpFl Julbn™ x=2 F{Xis
I=>pSgmE B\p]nxXnl Kf~ Jw D] tbnKn g pw.

y-1 = 5-1
32-30 35-30

ie y-1 = 4
2 5
y-1 = 4x2
5
y = 8+1
5
= 13
5
= 2.6

adia y Hep \n X kwdy B Inf x F- mbncn § psaf] Is=>FIn\pv Cu an—W Xs9|
D] tnKn § mw.

DZm B cWw ; y=8 Bbn™ x F- mbicn g pw?
y =8 F[ X 5\pw 14\pw CShnenW.
xS hie 35\pw 40\pw CSb j pambicn § pat™m.

x-35 = 40-35
8-5 14-5
X-35 = 5
3 9
x-35 = 5x3
9
= 5}
3
X = 5+35
3
= 110 =36.6
3

y=30=15 BIn\p xhiebnwW a[yaw

2
x-40 = 45-40
15-14 22-14
x-40 = 5
8
X = 5+40
8
= 40.63
afyaw = 40.63

MUKULAM MATHS



Jeormoe\ {Ja\8 —
L Hcp sXmgn™ amebnse sXmgienfil fisS ZIhkkthX\sFl ASt  m\am jnbop J«l
NphsS sInSp § p9l p. afyaw ImWpl.

Zihikkth X\
(cq]br~ v 150 200|200 250|250 300{300 350|350 400|400 450

sXmgremfnl
f1sS Ffi w 2 6 9 9 5 8

2. Hep kigfise Ipal™ 5§ W 3 JecoEDb § (TE) e“ia ktimdplFpsS J« i bnW
sInSpFhcn 5 p9T X.

ktin Lpan B FpsS Ffiw
010 4
10 20 6
20 30 12
30 40 18
40 50 33
50 60 13
60 70 9
70 80 5

k<t Imdp I FpsS a[yaw InWpl.
3. KHhu« byn..n™ JsfSpFl 200 Bp«alFpsS Dbc8& — J«lbmnbn NphsS sInSp g pvl p.

Dbcw (sk. an) | Bp«iBfpsS Dcw
130 135 20
135 140 16
140 145 36
145 150 56
150 155 44
155 160 26

k= Xnhrfli,«l Xendm gn afyaw Imwpl.

4. Hcp hyhkmb amebn™ tPmen sN¢pl  k{Xol fpsSbpw Jpcp g =mcpsSopw {Imbow
J«lbnbn sinSpFlnen § p9l p.

hb* k{Xol fpsS Ffiw | Jpcp g =mcpsS Ffiw
20 25 12 8
25 30 17 13
30 35 21 22
35 40 26 21
40 45 16 15
45 50 12 12
50 55 6 9
Bsl 110 100

) k{XolfpsS hb=ns a[yaw IW gmgpl.

b)  Jpcp g =mcpsS hb=ns afyaw IW gmipl.

) Bsl tPnenjncpsS hb“is  a[yaw Inwpl.
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UNITTEST Narks 20

L klgfise 1900 Bpaal FpsS k...mzy \nt&=]Fhs an[yw 1725 cg]bnsW fn~

B kilghise k..mzy \it£ Jw F{X? l
2. Hep{hhg 'a cFhh™ BzysFl 10 Hnhdi™ C- y t\Sib dfi pI fmW NphsS s InSpFin
cn g pql X.
4,8,17, 3,612,109, 5 2 dfi phfpsS afyaw InWpl. |
3. 25 Bp«rBFpsS “mcw (kg) kgNn,n § pII J«ilbnW NphsS s InSpFhicn § pql X.
Lpar B FpsS “mcFlhis  am[yw InWpl. 3
“mew  (kg) Ipan B FpsS Ffiw
30 35 2
35 40 7
40 45 10
45 50 5
50 55 1

4. Hecp tInf\nbnse 50 BpSpw__ 8 fpsS {]Xnamk hcpam\sFl kN1 § pI Bhrfh
J«l Xnsg sInSp § p9l p.

hcpam\w cq jw IpSpw__ 8 fpsS Ffiw
1000 2000 1

2000 3000 x-1

3000 4000 6

4000 5000 x+5

5000 6000 X+7

6000 7000 8

7000 8000 x+1

8000 9000 3

a xS hie IWignjgpl. 4

b)  Hmtcm ¢nkas bw Bhrfln Inwpl.
c) IpSpw__ 8 TpsS hepan\Flhis  anyw ImWpl.

5 Heptlm ente j 20l BKkX ank¥Ihh™ Jo §jdig sNehmb XplbpsS J«l NphsS

sImSp 5 p9l p. 3
sNeh c(q] Zhk8 fpsS Ffiw
300 3
320 12
350 5
430 6
470 3 afyaw InwWpl.
510 2
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Hep koW~ 1 iphmant tXm«FIn™ \nq[ e“na 1 iph>nbpsS Xq § w kqgNn,n 5 pql
J«l NphsS sInSp 5 pql p.

Xggw (Intem) Zhk8 fpsS Ffiw
10 15 2
15 20 5
20 25 13
25 30 6
30 35 il
35 40 12
40 45 9
Bsl FX 2hkw 1 iph>n tiJcia. 4

25 Itemhn™ Bpdh B aph=>n e‘maX F{X ZhkanWw.
alyaw ImWpl.

Hcp D himefl c> hyXykX BpSpw_ {mo bgwh nfplfise hnr hchis  J«l
NphsS s InSpFlnen § p9l p.

hn  hch (cq]) 1 m 2

5000 7000
7000 9000
9000 11000
11000 13000
13000 15000
15000 17000

BNIQHI—\B

w &~

30 30

Hntem  mfisebpw hit  hchis  an[yw 1> GX nfienW  1gSpX™ hn™ ]\
\STTX FT W gnmgpl. 4
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